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5.0 INTRODUCTION »
This chapter presents analysis of collected data. The data were analyzed with ‘
the help of dppropriate statistical techniques and were interpreted in order to
arrive at inferences. These include the data collected through different tools.
The main objective of the present study has been to develop a strategy for

multigrade teaching on Environment for class IIl and IV.

51 ANALYSIS AND INTERPRETATION OF THE SITUATIONAL

_ -- ANALYSIS OBTAINED THROUGH QUESTIONNAIRE

Purpose : To identify the administrative and padagogical problems faced by

multi-grade teaching schools.

1. 100 percent (25) of the schools were located in the vasahat itself that

| was within 1 kilometer. But the teachers Were either commuting from
the Dabhoi village or Vadodara city.

2. Out of twentyfive schools majority sixtyeight percent (17) schools were
Béldnging to Gujarat followed by twentyfour percent (6) schools were
Bélonging to Madhyapradesh and only eight percent (2) schools
belonging to Maharashtra, '

3. 'forty eight percent (12) schools were running classes I to V followed by

| ”thenty-eight percent (7) schools running classes I to VI aﬁd twenty-four
percent (6) schools running classes I to IV. ‘

4. As far as the rooms in the school were concerned forty percent (10) of
the schools were having 2 rooms followed by thirty-six percent (9)
schools  were having 3 rooms and twenty percent (5) schools were
havmg one room and only four percent (1) school was havmg 6 rooms
1rrespect1ve of number of class.

5.-- Majority, seventy-six percent (19) schools were having 2 teachers
followed by sixteen percent (4) schools were having 3 teachers and only
eight pefcent (2) schools had single teacher.

6. 100 percent (25) teachers have Primary Teacher Certificate (PTC)

qualification.
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10.
11.

12.
13.
14.
15.
16.

17.
18.

19.

20.

Majority forty-four percent (11) teachers were having experience_ of 5

. years, followed by twenty-eight percent (7) teachers were having 3 years

of experience. Further, twenty-four percent (6) teachers were having
experience of two years and only four percent (1) teachef was having 10
years of teaéhing experience. v

The teaché_r student ratio ranged from 1:15 to 1:50 according to number
of classes. | |

100 percent (25) schools were not having any extra-staff member.

Total number of children in single school range from 10 to 150.

On an average, class III students ranged from five to eight in each
school. _ |

On an average class IV students ranged from 4 to 12 in each school.
Sixty percent (15) schools were having drinking water facility that was
hand —pump /water tap and only forty percent (10) schools were having
either earthen pot or steel vessel.

ﬁfty—six percent (14) schools were' having common toilet facility,

twenty-four percent (6) school were not having toilet facility and only

“twenty percent (5) school having separate toilet for girls and boys;

100 percent of the vasahat schools were having school building.

‘100 percent of the schools were following the similar timing that was

10.30 a.m. to 5.00 p.m.

100 percent (25) schools were not following period system.

100 percent (25). schools were following muitigrade teaching, where
they handle more than 1 grade simultaneously.

Eighty percent (20) of the schools were giving more emphasis to
Gujarati and mathematics and only fwenty percent (5) schools were
teaching environment everyday. T ‘
100 percent (25) schools were preparing time-table but none of the

school were practicing.
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21

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

Majority eighty percent (20) teachers were not téaching environment
everyday. Only twenty percent (4) of the teachers “were teaching
environment everyday.

eighty percent (20) of the teachers were employing a story telling and

poem for teaching some content as a major activities and only twenty

percent (5) teachers were using field visit as an activity.

Eighty percent (20) teachers had in-service training in minimum levels
of learning (MLLs) and the rest twenty percent (5) teacheré were
Vidyasahayak and had not taken any in-service training.

100 percent (25) teachers were not given any training related to
multigrade. | »

100 percent (25) teachers were using lecture method with recitation.

100 percent (25) teachers used text-books as major teaching aid
(although they had teaching aids related to our body, charts on animals,
birds, season, weather, map etc. but were not used)

Eighty percent (20) teachers responded that they used the available

~ teaching aids and twenty percent (5) teachers sometime used this

teaching aid. |

100 percent (25) teachers had no fraining with respect to use of available
teaching aids.

100 percent (25) teachers preplanned the lesson as they have to prepare
nondhbook (dairy) as per the rules.

100 percent (25) teachers responded that there no provision for transfer
and promotion. e |

Supervision was conducted twice or thrice in 6 months.

Vidyasahayak gets twelve casual leaves only. But teachers who were
permanent gets optional leave, medical leave, maternity leave for three
months apart from twelve casual leaves.

100 percent of the teachers ,were‘ following grade combination technique

on the mutual basis.
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34. 100 peréent of the teachers told that there was no substitute teacher
when they go on leave. . _ -

35. 100 percent of the teachers responded that they had no training related to
multigrade. |

3.1.1 Analysis and Interpretation of Semi-structured Interview Schedule

for Studying Administrative and Pedagogical Problems _
Posting and tran&fer of teacher : Teacher don’t get transferred unless they
demand and put forward an application for transfer to Jilla Panchayat.
Vidhayasahayak sometime get transferred where and wilen the ’reqﬁirement of
teacher exists. Sometimes on the mutual basis that was if teacher was going
from Padra to Dabhoi and wants fo get transferred to Padra, teacher can
communicate with the teacher working at that place, thus on the mutual basis
-adjustment was méde. : - | |

Supervision : Supervisors hardly visit the Vasahati school. In year, twice or

thrice. ‘Actually they have to supervise the schools twice a month. But due to

heavy workload as they have to supervise many talukas simultaneously and so
they were unable to handle ‘t_hvgr_g_-gigty properly.

Grants of leave for teachers and appointment of substitute . Vidhayasahayak
'V"gets twelve- casual-leaves ~only. But the teacher who wére permanent gets-
optional leave, medical leave, maternity leave for 3 months apart from 12
casual leaves. Most of the time there was no appointment of their substitute and
single teacher has to handle the whole school. 7

Organisation of Special Training for Teachers : As far as this statement was_
concerned no such special training to handle more than one class or the whole
school was given. Only the training relafed to change in the text-book was
given. ﬁ
Grade-combination : Grade combination was done on mutual basis for
example before it was like that teacher who has taken training for particular
class will take that class but now on the mutual understanding and due to lack

of teachers the grades were combine systematically. For example, if the school
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was having 1 to 4 class then one teacher will take 1% and 2 class and another
teacher takes 3™ and 4™ class. So that it becomes easy for teacher to take the
class without wasting teaching learning time. | '

Time-table : Teacher prepare time-table bﬁt they don’t follow it. In a day they
either take one or at the most two subjects that was preferably Gujarati and
Mathematics. Further reported that they make change in subject only when they
- see that students doesn’t carry any more interest in_that particular subject and

some change was required.

5.1.2 -Intérpretation of classroom obse‘rvations before the vgorkshop
Purpos¢ : To identify the pedagogic probiems in multigrade tedéhing.
Twenty schools were observed and in all the twenty school students of class I]I‘A ‘
and class IV were sitting in one room and they were 31tt1ng separately
accordmg to their class. y
In all the observed schools; the pattern of teaching was éimiiar with the
emphasis on recitation, syllabic reading, dictation and copyihg of exercises
' from the blackhoard. Further, teacher was teaching one class and another class
given some kind of recitation or copying of exercises froxh the text-book.
Teacher starts the class with the new concept /lessen hence recap1tuahzatmn
- “was ot emphasized. Teacher interacting with the class usually began the
lesson by reading or by solving certain problem on the backboard and the
students was suppose to listen, recite (if necessary) and then copy in their
e —
notebooks. The teaching learning process was routine and mechanically -
.emphays,seémed to be given on rote learning.‘ Further, observed that the
teachers generally, adhered to the set curriculum prescribed in the textbook. -
rTeachér’s mean concern was to complete the syllabus than to j_r_xake students
undersftandfaw;xd\;chieved;the competency. IN this teacher 'briénted process, the
‘studenfs/g:ither encouraged td raise questions nor to make ohscrvations. Thus,
the type of environment created in the classroom led to mechanical ways of
learning. Teacher hardly provided opportunities to the students for interaction,

Hence, the classroom climate under such situations was dull, boring, tensed and
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students appear tired and frustrated. Also, the teachers were not seen to be
enthusiastic. Thus, the classroom environment was not conduc‘iire and
productive.

Although not many teaching aids related to environment were available but the
teaching aids which were. available, were hardly used for examplewzé”éz};;r
teaching about “our body” chart was available but was kept in the cupboard
/box or was hanged in another room. Apart from this chart other teaching aids
available were charts on weather, living and non-living things, vegetables and
fruits globe, ihap of Gujarat, efc.

While interacting the inve&tigatar came to know that they were not tfained on
how and when vto use the particular teaching aid. Further, they informed that
they have to produce teaching aids and other te'achihg learning materials

before the supervisor at the end of the academic year.

52 ANALYSIS AND INTERPRETATION OF THE DATA
OBTAINED THROUGH ACHIEVEMENT TEST
The achievement test was administered to 200 students of Class III and Class
IVi in 2 20. schools same was scored according to scoring key The distribution of
| mw in table 5.1.
Table 5.1

Distribution of achievement score

Class-Interval : Frequency
10-19 5
20-29 o 56

~30-39 4 68
40-49 61
50-59 100

=f=200
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, Table 5.2
Mean, Median, Mode, Standard deviation, Skewness, Quartiles, Kurtosis and

Percentile. _

Mean ‘ ' 35.25

Median ‘ 35.2

Mode 35.1

Standard deviation 937

Skewness | 0.016

Quartiles : 1.705

Kurtosis 1 0.30

Percentile | P10=22.18, P20=25.75, P30=29.32,
P40=32.29, P50=35.23, P60=38.18,
P70=41.30, P80=44.58, P90-47.86

Table 5.2 shows that the mean, median, mode fall at the same point in the
. distribution. Thus, it cah be concluded that the score of the students in
achievement test was normally distributed. The average ‘achi.evement of the
' student was 35.25 and mode wés found to be 35.1, standard deviation was
found to be 9.37. The percentile shows that 50 percent of the students scored
léss than 35.23. This indicates that the majority of the students have achieved (Z
the identified competencies. : o - ‘
The achievement test was administered to 115 students of Class IIT in 20
schools .same was scored accordiﬁg to the scoring key. The distribution of

marks is shown in table 5.3

_ Table 5.3
Distribution of the achievement scores of the class III students
Class-Interval 'Frequency
10-19 3
20-29 32
30-39 44
40-49 31
50-59 : 5

xf=115
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| Table 5.4
Mean, Median, Mode, Standard deviation and Skewness.

Mean 34.76
Median : 13461
Mode 34.31
Standard deviation 8.6

Skewness : 0.051

Table 5.4 shows that the mean, median, mode fall at the same point in the
distribution. Thus, it éan be concluded that the score of the students in
achievement test was normally distributed. The average achievement of the
student was 34.76, median was 34.61 and mode was 34.31, standard deviation
was found to be 8.6. Thus, the above data implied that majority of the students r)
have achieved the identified competencies. o o o .
The achievement test was administered to 85 students of Class IV in 20
schools. Same was scored according to the scoring key and distribution of

marks is shown in table 5.5.

Table 5.5
Distribution of the achie\fement scores of the class IV students
Class-Interval : Frequency
10-19 2
20-29 _ 24
30-39 24
40-49 30
50-59 ' 5

Zf=85
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Mean, Median, Mode, Standard deviation and Skewness.

Table 5.6

Mean 359
Median 36.4
Mode 374
Standard deviation 9.7
Skewness -0.15

Table 5.6 shows that the mean, median, mode fall almost at the same point in

the distribution. Thus, it can be concluded that the score of the students in

achievement test was slightly negatively skewed. The average achievement of

the student was 35.9, median was 36.4 and mode was 37.4, standard deviation

was found to be 9.7. Thus, the above data implies that majority of the students

have achieved the identified competencies.

Table 5.7
Distribution of mean achievement according to school
Schools Mean Schools Mean .
1 32.91 11 35.56
2 33.73 12 38.88
3 44.80 13 41.25
4 32.60 14 30.94
5 37.90 15 38.50
6 40.38 16 . 35.00
7 34.50 17 33.91
8 45.50 18 30.38
9 34.50 19 40.83
10 34.45 20 40.00
118 Chapter 5




Table 5.7 indicated that mean achievement of school eighteen was minimum,
30.38 and that of school three was maximum, 44.80. The average achievement
of twenty schools was 36.83.

To see whether there was any difference in the achievement of students
schoolwise, following null hypothesis was formulated

“There will be no significant difference in the mean achievement of students
with respect to schools”

To test this hypothesis ANOVA was computed and presented in table 5.8.

Table 5.8
Overall achievement of twenty schools.

Source df SS MS(V) SD F-value
Between 19 7582.56 399.08

means :

: 7.63 - 69
Within 180 4654.56 58.18 ' :
means '
199 12237.12

Level of significance at 0.05 and 0.01 level, expected values 1.88 and 2.28
respectively. _

As the F-value was found to be greater than expected F-value. The null
hypothesis stating that there will be no significant difference in the mean

achievement of the students with réspect to schools was rejected. Indicating
that difference exists in the mean achievement of the students with respect to

schools. ‘To know where exactly the difference exists, the post-ANOVA test of

differences was applied. Same has been presented in the following pages.
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Ta_ble 59 ‘
Tests of difference by use of post-ANOVA between school one and school
two.

Mean of Mean of Mean SEp Dos
“school 1 school 2 difference D

' 01

3291 33.73 082 | 325 6.40

' 8.45

Table 5.9 indicated that mean échievement of school 1 was 32.91 and that of
| school 2 was 33.73. There was a 6b§erved diﬁ'érence of 0.82 which was lesser
‘than expected value at the both the levels. Thus, the mean difference was found

to be not significant and so the null hypothesis stating that there will be no

significant difference in achievement of school 1 and school 2 was a(:cepted.

So it can be concluded that there was no4 significant difference in the 'meah

~ achievement of school 1 and school 2.

: - Table 5.10 ‘
Tests of difference by use of post-ANOVA between school one and school
three. ‘ '

.. Mean of Mean of Mean SEp D os
school 1 school 3 difference D
. Doy
32.91 44.8 11.89 3.32 6.54
| 8.63

Table 5.10 indicate that mean achievement of school one was 32.91 and that of

school three was 44.8. There was a observed difference of 11.89 which was - -

greater than expected value at both thelevels: Thus, the mean difference was™ ~ -

found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 1 and school 3 was rejected.
So it can be concluded that there was a significant difference in the mean

achievement of school 1 and school 3.
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Table 5.11
Tests of difference by use of post-ANOVA between school one and school

four.
Mean of Mean of Mean SEp Dygs
school 1 school 4 difference D
. o1
32.91 326 031 3.32 6.54
| | 8.63

Table 5.11 indicate that mean achievement of school one was 32.91 and that of
school four was 32.6. There was a observed difference of 0.31 which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 1 and school 4 was accepted.

So it can be coﬁcluded that there was a no significant difference in the mean

achievement of school 1 and school 4.

Table 5.12

Tests of difference by use of post—ANOVA' between school one and school
 five.
: Mean of Mean of Mean SEp Dys
school 1 school 5 difference D
o1
32.91 37.9 4.99 - 3.32 6.54
8.63

- -school three was 37.9. There was a observed-difference of 4.99-which' was
lesser than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no

significant difference in achievement of school 1 and school 5 was rejected.
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So it can be concluded that there was a significant difference in the mean

achievement of school 1 and school 5.

_ Table 5.13
Tests of difference by use of post-ANOVA between school one and school six.
Mean of Mean of Mean SEp Dgs
school 1 ~school 6 difference - D
, : o
3291 40.38 7.47 3.12 6.15
' ' 8.11

Table 5.13 indicate that mean achievement of school one waé 32.91 and that of

school six was 40.38. There was observed difference of 7.47, which was found
to be greater than expected value at 0.05 level. So, the null hypotﬁesis stating

| that there wiﬂ be no significant difference in achievement of schbol 1 and

school 6 was rejected. ' ‘

So it can be concluded that there was a significant difference in the megn

achievement of school 1 and school 6.

Table 5.14

Tests. of difference by use of post-ANOVA between school one and school
seven. |
Mean of Mean of Mean SEp Dygs
school 1 school 3 difference D
.o .01
3291 345 1.59 3.32 6.54
8.63

- Table 5.14 indicated that mean achievement of school one was 32.91 and that
of school three was 34.5. There was a observed difference of 1.59 which was
lesser than expected value at both the levels. Thus, the mean difference was

fqund to be not significant and so the null hypothesis stating that there will be
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no significant difference in achievement of school 1 and school seven was
accepted.
So it can be concluded that there was a no significant difference in the mean

achievement of school 1 and school 7.

Table 5.15
Tests of difference by use of post-ANOVA between school one and school

eight.

Mean of Mean of Mean SEp D s
school 1 school 8 difference D

01

32.91 45.5 12.59 ' 3.54 : 6.97

9.20

Table 5.15 indicate that mean achievement of school one was 32.91 and that of
school eight was 45.5. There was a observed difference of 12.59 which was
greater than expected. value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no
signiﬁcant difference in achievement of school 1 and school 8 was rejected.

So ‘it can be concluded that there was a significant difference in the mean

achievement of school 1 and school 8.

Table 5.16
Tests of difference by use of post-ANOVA between school one and school
‘nine. _
Mean of . Mean of Mean SEp Dgs
_school 1 school 3 _ difference S D
01
32.91 - 345 1.59 332 654
8.63

Table 5.16 indicate that mean achievement of school one was 32.91 and that of

school nine was 34.5. There was a observed difference of 1.59 which was
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lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 1 and school 9 was accepted.

So it can be concluded that there was a no significant difference in the mean

achievement of school 1 and school 9.

Table 5.17
Tests of difference by use of post-ANOVA between school one and school ten.
Mean of Mean of Mean SEp D ¢s
school 1 school 10 difference D
ol
32.91 34.45 1.54 3.25 6.40
8.45

Table 5.17 indicate that mean achievement of school one was 32.91 and that of
school three was 34.45. There was observed difference of 1.54, which was
lesser than expected value ét both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 1 and school 10 was
accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 1 and school 10.

Table 5.18
Tests of difference by use of post-ANOVA between school one and school
eleven
Mean of Mean of Mean SEp Dos
school 1 school 11 difference D
.01
32.91 35.56 2.65 341 6.72
8.87
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Table 5.18 indicated that mean achievement of school one was 32.91 and that
of school three was 35.56. There was observed difference of 2.65, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and s0 the null hypothesis stating that there‘ will be
no significant difference in achievement of school 1 and school 11 was
accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 1 and school 11.

Table 5.19
Tests of difference by use of post-ANOVA between school one and school
twelve.

Mean of Mean of Mean SEp Dos
school 1 school 12 difference D

R .01

32.91 38.88 597 3.54 - 6.97

9.20

Table 5.19 indicated that mean achievement of school one was 32.91 and that
of school three was 34.45. There was observed difference of 5.97, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference m achievement of school 1 and school 12 was
accepted.

So it can be concluded that there was no significant difference in the mean.

achievement of school 1 and school 12.
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Table5.20
‘Tests of difference by use of post-ANOVA between school one and school
thirteen.

 Mean of Mean ~ SEp Ds

Mean of
school 1 school 13 difference : D
, ot
32.91 41.25 8.34 3.15 6.20
8.19

Table 5.20 indicated that mean achievement of school one was 32.91 and that
of school thirteen was 41.25. There was observed difference of 8.34, which was
greater than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 1 and school 13 was rejected.

So it can 5e concluded that there was significant difference in the mean

achievement of school 1 and school 13.

Table 5.21
Tests of difference by use of post-ANOVA between school one and school
fourteen. |

Mean of Mean of Mean SEp Dos
school 1 school 14 difference D

01

3291 30.94 1.97 2.98 5.87

| 1.75

Table 5.21 indicated that mean échie_vement of school one was 32.91 and that
of school fourteen was 30.94. There was observed difference of 1.97, which
-was-lesser than expected value at both the levels. Thus, the meén difference
was found to be not significant and so the null hypothesis stating t:hat there will
be no significant difference in achievement of school 1 and séhool 14 was

. accepted.
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So it can be concluded that there was no significant difference in the. mean

achievement of school 1 and school 14.

_ Table 5.22
Tests of difference by use of post-ANOVA between school one and school
fifteen.

Mean of Mean of Mean SEp - D s
school 1 school 15 difference : D

) . 01

32.91. 38.5 5.59 3.32 6.54

8.63

Table 5.22 indicated that mean achievement of school one was 32.91 and that
of school fifteen was 38.5. There was observed difference of 5.59, which was .
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no. significant difference in achievement of school 1 and school 15 was
accepted. ‘ | '

So it can be concluded that there was no signiﬁéant. difference in the mean

achievement of school 1 and school 15.

_ Table 5.23
Tests of difference by use of post-ANOVA between school one and school
sixteen.
Mean of “Mean of Mean SEp Dos
school 1 school 16 difference D
. Do
- 32,91 35 209 - 3.32 6.54
T o . . . . 863 . .

Table 5.23 indicated that mean achievement of school one was 32.91 and that
of school sixteen was 35. There was observed difference of 2.09, which was

lesser than expected value at both the levels. Thus, the mean difference was

127 . Chapter 5,



found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 1 and school 16 was
accepted. | | i

So it can be concluded that there was no significant difference in the mean

achievement of school 1 and school 16.

Table 5 24
- Tests of dlfference by use of post-ANOVA between school one and school
seventeen. - , _
Mean of Mean of Mean - SEp | Dys
school 1 school 17 difference : D
: 01
32,91 33.91 1 3.25 6.40
8.45

Table 5.24 indicated- that mean achlevement of school one was 32 91 and that
of school seventeen was 33. 91. There was observed difference of 1, which was
lesser than expected value at both the levels. Thus, the mean difference was

| ﬁjund_ fo be not significant and so the ’null hypothesis stating that there will be
| no'_ significant difference in achievement of school 1 and school 17 was 'f
accepted. = ‘
So it can be concluded that there was no significant difference in the mean

achievement of school 1 and school 17.

Tabje S.25
Tests of difference by use of post-ANOVA between school one and school
eighteen. ‘

Mean of -~ Mean of “Mean | SEp - Dos
school 1 school 18 difference D

01

3291 30.38 2.53 3.54 6.97

9.20
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Table 5.25 indicated that mean achievement of school one was 32.91 and that
“of school eighteen was 30.38. There was observed difference of 2.53, which
was- lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 1 and school 18 was
accepted. _ _

So it-can be. concluded that fhere was no significant difference in the mean

achievement of school 1 and school 18.

Table 5.26
Tests of difference by use of post-ANOVA between school one and school
nineteen.
Meanof | Meanof Mean SEp D gs
school 1 ~ school 19 difference - D
] : LA 01
© 3291 40.83 7.92 3.89 - 7.39
10.11

Table 5.26 indicated that mean achievement of school one was 32.91 4and that '
of school nineteen was 40.83. There was observed difference of 7 92, which
was greater than expected value at 0.05 level. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no )
significant difference in achievement of school 1 and schoo} 19 was rejécted.
So it can be concluded that there was significént difference in the mean

achievement of school 1 and school 19.
Table 5.27 -

Tests of difference by use of posteANOVA between school one and school |

fwedity. L R S T

Mean of Mean of ‘Mean SEp D s
school 1 school 20 difference Do
. 01
3291 40 7.09 3.89 7.39
10.11
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Table 5.27 indicated that mean achievement of school one was 32.91 and that
of school three was 40. There was observed difference of 7.09, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 1 and school 20 was
accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 1 and school 20.

Table 5.28 .
Tests of difference by use of post-~ANOVA between school two and school
three

Mean of Mean of Mean SEp Dys
school 2 school 3 difference D
. R 01
33.73 44.8 11.07 3.32 6.54
8.63

Table 5.28 indicated that mean achievement of school two was 33.73 and that
of school three was 44.8. There was observed difference of 11.07, which was
greater than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 2 and school 3 was rejected.

So it can be concluded that there was significant difference in the mean

achievement of school 2 and school 3.

. Table§29 - -~ - - -

.. Tests of difference by use of post-AN OVA between school two and-school four
Mean of Mean of Mean SEp Ds
school 2 school 4 difference D

.01
33.73 32.6 1.13 3.32 6.54
8.63
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- Table 5.29 indicated that mean achievement of school two was 33.73 and that
6f school three was 32.6. There was observed difference of 1.13, which was
lesser than expected value atl both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be -
no significant difference in achievement of school 2 and school 4 was accepted.
So it can be concluded that there was no signiﬁcaﬁt difference in the mean

achievement of school 2 and school 4.

, Table 5.30 .

Tests of difference by use of post-ANOVA between school two and school five
Mean of Mean of Mean SEp Ds
school 2 school 5 difference D

_ 01
33.73 379 417 - 3.32 - 654
' 8.63

Table 5.30 indicated that mean achievement of school two was 33.73 and that '
of school three was 37.9. There was observed difference of 4.17, which was
lesser: fhan expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 2 and school 5 was accepted.
So it can be concluded that there was no significant difference in the mean

achievement of school 2 and school 3.

| Table 5.31
- - Tests of difference by use of post-ANOVA between school two and school six. ~
-Mean of -- Mean of Mean - - SEp B R Dos
school 2 school 6 difference D
' 4701
33.73 40.38 6.65 3.13 6.17
8.14
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Table 5.31 indicated that mean achievement of school two was 33.73 and that
of school six was 40.38. There was observed difference of 6.65, which was
greater than expected value at 0.05 level. Thus, the mean difference was found
to be not significant and so the null hypothesis stating that there will be no -
significant difference in achievement of school 2 and school 6 was rejected.

So it can be concluded that there was significant difference in the mean

achievement of school 2 and school 6.

Table 5.32 |
Tests of difference by use of post-ANOVA between school two and school
seven |
Mean of Mean of Mean SEp D s
school 2 school 7 difference D
v , | ot
33.73 34.5 0.77 332 - 6.54
| " 8.63

- Table 5.32 indicated that mean achievement of school two was 33;.73 and that
: of school seven was 34.5. There was observed difference of 0;77,; which was
lesser than eXpected value at béth the levels. Thus, the mean difference was
' found to be not significant and so the null hypt}thesis S’tatiﬁg that t;here will be
no significant difference in achievement of scﬁool 2 and school 7 was accepted.
So it can be concluded that there was no significant difference in the mean
achievement of school 2 and school 7.
| Table 5.33
Tests of difference by use of post-ANOVA between school two and school

-eight

1 -Mean of

"~ Meanof - - Mean SEp Dys '
school 2 school 8 difference D
01
33.73 45.5 11.77 3.54 6.97
9.20
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Table 5.33 indicated that mean achievement of school two was 33.73 and that
of school three was 45.5. There was observed difference of 11.77, which was
greater than expected value at both the levels. Thus, the mean difference was
found to Be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 2 and school 8 was rejected.

So it can be concluded that there was 31gn1ﬁcant dlfference in the mean

achievement of school 2 and school 8.

Table 5.34
Tests of difference by use of post-ANOVA between school two and school
nine ’
Mean of Mean of Mean - SEp Dos
school 2 school 9 difference D
- Do
33.73 34.5 0.77 3.32 . 6.54
| 863

Table 5.34 indicated that mean achievement of school two was 33;73 and that
of ‘school nine was 34.5. There was observed difference of 0.77, which was
lesser t_han expected value at both the levels. Thlis, 'Ehe m§an difference was
found to be not significant and so the null hypothesis: statiﬂg that ﬁhere will be
no significant difference in achievement of school 2 and scho:ol 9 was accepted.

So it can be concluded that there was no sxgmﬁcant dlfference in the mean

achievement of school 2 and school 9.

Table 5.35 |
Tests of difference by use of post-ANOVA between school two and school ten
‘Meanof | Meanof | Mean SEp Dyos
school 2 school 10 difference D
- D
33.73 34.45 0.72 3.25 6.40
A 845 .
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Table 5.35 indicated that mean achievement of school two was 33.73 and that
of school ten was 34.45. There was observed difference of 0.72, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant differénce’ in achievement of school 2 and school 10 was
accepted. ' ,

- So it can be concluded that there was no significant difference in the mean

achievement of school 2 and school 10.

Table 5.36

Tests of difference by use of post-ANOVA between school two and school
eleven
Mean of Mean of Mean SEp | ' ‘Ik)'os
school 2 school 11 difference .. D
, , - Da
33.73 . 3556 | 183 341 6.80
| 8.87

Table 5.36 indicated that mean achievement of school two was 33.73 and that
of school eleven was 35.56. There was observed difference of 1.:83, which was
" lesser than expected value at both the levels. Thus, the mesn difference was
found to be not significant and so the null hypothesis Astating‘ that there will be
no significant difference in achievement of school 2 and ‘school 11 was
accepted. | | |

~ So it can be cdnclude_d that there was no significant difference in the mean

achievement of school 2 and school 11.
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- Table 5.37
Tests of difference by use of post-ANOVA between school“two and school
twelve

Mean of -

Mean of Mean SEp D s
school 2 school 12 difference D
o ot
33.73 38.88 5.97 3.54 6.97
' 9.20

~ Table 5.37 indicated that mean achievemént of school two was 33.73 and that
~ of school ten was 38.88. There was observed difference of 5.97, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 2 and school 12 was:
accepted. | |

So it can be concluded that there was no significant difference in the mean

achievetﬁent of school 2 and school 12,

Table 5.38
Tests of difference by use of post-ANOVA between school two and school
thirteen |

Mean of Mean of Mean SEp D s
school 2 school 13 difference D

J 01

33.73 41.25 7.52 3.15 | 6.20

' 8.19

. Table 5.38 indicated that mean achievement of school two was 33.73 and that-

- - of school ten was 41.85. There was observed difference of 7.52, which was

greater than expected value at 0.05 level. Thus, the mean difference was found
to be significant and so the null hypothesis stating that there will be no |

significant difference in achievement of school 2 and school 13 was rejected.
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So it can be concluded that there was significant difference in the mean

achievement of'school 2 and school 13.

, Table 5.39 ,
Tests of difference by use of post-ANOVA between school two and school
fourteen
Mean of Mean of Mean SE;; Dys
school 2 school 14 - difference D
. e o1
33.73 30.94 1.97 2.98 5.87
1.75

Table 5.39 indicated that mean achievement of school two was 33.73 and that
of school fourteen was 30.94. There was observed difference of 1.97, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 2 and school 14 was
accepted.

So it can be concluded that there was no significant difference in the mean

- achievement of school 2 and school 14.

Table 5.40
Tests of difference by use of post-ANOVA between school two and school

fifteen

‘Mean of Mean of ‘Mean SEp Dys
" school 2 school 15 difference |- D
ot
33.73 38.5 4.77 ' 332 © ] 654
PR ' - 8.63

Table 5.40 indicated that mean achievement of school two was 33.73 and that
of school fifteen was 38.5. There was observed difference of 4.77, which was

lesser than expected value at both the levels. Thus, the mean difference was
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found to be not significant and so the null hypothesis stating that there will be
no significant difference~in achievement of school 2 and school 15 was
accepted.

So- it can be concluded that there was no significant difference in the mean

achievement of school 2 and school 15.

| | Table 5.41 |
Tests of difference by use of post-ANOVA between school two and school
- sixteen ' | ' :
Mean of Mean of Mean SEp Dys
school 2 school 16 difference ' D
01
33.73 35 1.27 3.32 - 6.54
- 8.63

“Table 5.41 indicated that mean achievement of school two was 33.73 and that

of school ten was 1.27. There ‘was observéd difference of 1.27,:which was |

lesser than expected value at both the levels. Thus, the mean difference was

fouhd to be not significant and so the null hypothesis stating that tilere will be
no significant difference in achievement of school 2 and schgjol 16 was

‘ accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 2 and school 16.

Table 5.42

Tests of difference by use of post~ANOVA between school two' and school
- seventeen
“Meanof | Meanof | ~'Mean [ é’E‘D h .Didsn“ -
school 2 school 17 difference D

: 01

33.73 33.91 0.18 3.25 6.40

| 8.45
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Table 5.42 indicated that mean achievement of school two was 33.73 and that
of school ten was 33.91. There was observed difference of 0.18, which was
lesser than expected value a’t‘both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 2 and school 17 was
accepted. |

So it can be concluded that there was no significant differe@ce in the mean

achievement of school 2-and school 17 :

Table 5.43 ;
Tests of difference by use of post-ANOVA between school two and school
- eighteen

Mean of - Mean of : Mean SEp D5
school 2 school 18 difference D
. . 2,01
33.73 30.38 335 . 3.54 6.97
| | 920

Table 5.43 indicated that mean achievement of school two was _33.73 and that’
of school eighteen was 30.35. There was observed difference of '3.35,_ Which

was lesser than expected value at both the levels. Thus, the mean. difference -
was found to be not significant and so the null hypothesisistating that there will

be no significant difference in achievement of school 2 and school 18 was

accepted.

So it can be concluded that there was no signiﬁcant difference in the mean

achievement of school 2 and school 18.

Table 5.44 indicated that mean achieVefeiit of school two was 33.73 and that
of school nineteen was 40.83. There was observed difference of 7.1, which was
lesser than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hypothesis stating that t:here will be
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no signiﬁcaht difference in achievement of school 2 and school 19 was

- accepted.
Table 5.44
Tests of difference by use of post-ANOVA between school two and school
nineteen '
Mean of Mean of Mean SEp - Dgs
school 2 school 19 difference : Dy,
33.73 40.83 7.1 3.89 7.39
" 10.11

So it can be concluded that there was no significant difference in the mean

achievement of school 2 and school 19.

7 Table 5.45
~ Tests of difference by use of post~ANOVA between school two ‘and school '
twenty '

Mean of Mean of Mean SEp Dgs
school 2 school 20 difference D

. 01

3373 40 6.27 3.89 7.39

| - 1011

Table 5.45 indicated that mean achievement of school two was 33.73 and that

of school twenty was 40. There was observed difference of 6.27, which was

lesser than expectéd value at both the levels. Thus, the mean difference was.

found to be not significant and so the null hypothesis stating that there will be -
. no;,vsigniﬁcant”difference.-in. achievement of school 2 and school 20 was.

- accepted.- |

So it can be concluded that there was no significant difference in the mean

achievement of school 2 and school 20.
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Table 5.46 | |
Tests of difference by use of post-ANOVA between school three and school

four
Mean of Mean of ‘Mean SEp D os
school 3 school 4 difference D
01
44.8 32.6 12.2 341 6.72
8.87

Table 5.46 indicated thét mean achievement of school three was 44.8 and that |
of school four was 32.6. There was observed difference of 12.2, which was
greater than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no '
significant difference in achievement of school 3 and school 4 was rejected.

So it can be concluded that there. ‘w'as significant diﬁ'erence in the mean

achievement of school 3 and school 4.

Table 5.47
Tests of difference By use of post-ANOVA between school three and school

 five

Mean of Mean of Mean SEp - Dys
school 3 school 5 difference D

, : : : o1

44.8 37.9 69 341 6.72

‘ ‘ 8.87

Table 5.47 indicated that mean achievement of school three was 44.8 and that

o ofws:chool five was 37.9. There was. observed difference of 6.9, which was

--- greater than -expected value at 0.05 level. Thus, the mean differencé was found -
to be significant and so the null hypothésis stating that there will be no
significant difference in achievement of school 3 and school 5 was rejected.

So it can be concluded that there was significant difference in the mean

achievement of school 3 and school 5.
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Table 5.48
~ Tests of difference by use of post-ANOVA between school three and school six

Mean of Mean of Mean SEp Dos -
school 3 school 6 difference | D
. 01
44.8 A 40.38 442 324 6.38
8.42

Table 5.48 indicatéd that mean achievement of school three was 44.8 and that
of school six was 40.38. There was observed difference of 4.42, -which was
lesser than expected value at both the levels. Thus, the mean difference was
- found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 3 and school 6 was accepted.

So it can be concluded that there Was no signiﬁcant difference in the mean

achievement of school 3 and school 6.

Table 5.49
Tests of difference bir use of post~ANOVA between school three and school
seven
Mean of Mean of Mean SEp. Dos
school 3 school 7 difference | D
01
44.8 34.5 10.3 3.41 6.72
8.87

Table 5.49 indicated that mean achievement of school three was 44.8 and that
of school seven was 34.5. There was observed difference of 10.3, which was

__greater than expected value at both the levels. Thus, the mean difference was

-—-found to-be significant and so the null hypothesis-stating that there-will-be no -~ -

significant difference in achievement of school 3 and school 7 was rejected.
So it can be concluded that there was significant difference in the mean

achievement of school 3 and school 7.
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Table 5.50
Tests of difference by use of post~ANOVA between school three and school

eight

Mean of Mean of Mean | SEp - Dygs
school 3 school8 | difference D

- 01

44.8 45.5 0.7 3.62 7.13

‘ ' 9.41

Table 5.50 indicated that mean achievement of school three was 44.8 and that
of school eight was 45.5. There was observed difference of 0.7, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating' that there will be |
no significant difference in achievement of school 3 and school 8 was accepted.
So it can be concluded that there was no significant difference in the mean

- achievement of school 3 and school 8.

Table 5.51

Tests of difference by use of post-ANOVA between school three and school
nine B
- -Mean of Mean of Mean SEp D s
school 3 school 9 difference D
. 01
44.8 34.5 10.3 3.41 6.72
8.87

Table 5.51 indicated that mean achievement of schdol three was 44.8 and that

. of school four was 34.5. There was observed difference of 10.3, which was

- greater than-expected-value-at both the levels. Thus; the-mean difference was- ~ -

found to be significant and so the null hypothesis stating that there will be no
| significant difference in achievement of school 3 and school 9 was rejected.
So it can be concluded that there was significant difference in the mean

achievement of school 3 and school 9.
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Table 5.52 |
Tests of difference by use of post-ANOVA between schiool three and school

ten
Mean of - Mean of Mean SEp Dos
school 3 school 10 difference D
, .01
44.8 345 10.3 3.32 6.54
‘ | 8.63

- Table ‘5'._52 iﬂdicated that mean achievement of school three‘was 44.8 and that
of school four was 34.5. There was observed difference of 10\:3, which was
greater than expected value at both the levels. Thus, the »mean difference was
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 3 and school 10 was rejected.

“So it can be concluded that there was significant difference in the mean

achievement of school 3 and school 10 .

Table 5.53

Tests of difference by use of post~ANOVA between school three and school
eleven ' .
Mean of - Mean of - Mean - - | SEp - Dys
school 3 school 11 difference 1 - D
: : 01
448 35.56 9.24 3.50 ¢ 6.89
9.1

Fable 5.53 indicated that mean achievement of school three wés 44.8 and 'thét |

- of ,scho,ol eleven was 35.56. There was observed difference of 9.24, which was

.- greater than expected value at both the levels. Thus, the mean diff'erence was

found to be signiﬁcant'and so the null hypothesis stating that there will be no |
significant difference in achievement of school 3 and school 11 was rejected.
So it can be concluded that there was significant difference in the mean

achievement of school 3 and school 11.

143 o Chapter 5



Table 5.54
Tests of difference by use of post-ANOVA between school three and school

twelve
. Mean of Mean of Mean SEp D s
school 3 school 12 difference D
. : _ 01
44.8 38.88 592 3.62 7.13
' B 9.41

Table 5.54 indicatéd that mean achievement of school three was 44.8 and that

of school twelve was 38.88. There was observed difference of 5.92, which was

lesser than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hypothesis stating that there will be
. no sigxﬁﬁcant difference in achiévement of 'school 3 | and school 12 was

accepted. - ‘ _

So it can be concluded that there was no significant difference in the mean

achievement of school 3 and school 12.

' Table 5.55
- Tests of difference by use of post~ANOVA between school three. and school .
thirteen ‘

Mean of Mean of - Mean SEp Dys
school 3 - school 13 difference ' D

.01

448 41.25 355 324 6.38

' 8.42

‘Table 5.55 indicated that mean achievement of school three was 44.8 and that-
of school thirteen was 41.25. There was observed difference of 3.55, which was
iésser than expected value at both the levels. Thus, the mean difference was

found to be not signiﬁcant and so the null hypothesis stating that fhere will be -
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no significant difference in achievement of school 3 and school 13 was

‘accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 3 and school 13.

Table 5.56 ‘
Tests of difference by use of post-ANOVA between school three and school
fourteen
Mean of ‘Mean of _ Mean SEp D s
~ school 3 school 14 difference D
, 01
44.8 30.94 13.86 3.07 6.05
7.98

Table 5.56 indicated that mean achievement of school fchree was 44.8 and that
of school fourteen was 30.94. There was observed difference of 13.86, which

was greater than expected value at both the levels. Thus, the mean difference

. was found to be significant and so the null hypothesis stating that there will be

" no signiﬁcant difference in achievement of school 3 and school 14 was‘ |

rejected.

{

achievement of school 3 and school 14.

So it can be. concluded. that there was significant difference in the mean

Table 5.57
Tests of difference by use of post-ANOVA between school three and school
fiffeen
"Mean of Mean of Mean SEp Dgs
school 3 school 15 difference D
01
44.8 -38.5 6.3 341 6.72
~ 8.87
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Table 5.57 indicated that mean achievement of school three was 44.8 and that
of school fifteen was 38.5. There was observed difference of 6.3, which was
lesser than expected value at both the levels. Thus, the mean difference was
fouhd to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of schodl 3 and schodl 15 was
accepted. o

So it can be concluded that there was no significant difference in the mean

achievement of school 3 and school 15.

\ Table 5.58 : ‘
Tests of difference by use of post-ANOVA between school three and school
sixteen
Mean of Mean of Mean SEp "~ Dys
school 3 school 16 difference D
01
443 35.0 9.8 341 | 672
| | | 8.87

Table 5.58 indicate& that mean achievement of school three was 44.8 and that
of .sch(()ol sixteen was 35. There was observed différénce of 9.8;’which was
greater than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesié stating tha_:t there will be no
significant difference in achievement of school 3 and school~ 16 was fejected.

So it can be concluded that there was significant difference in the mean

achievement of school 3 and school 16.

Table 5.59 :
Tests of difference by use of post—ANOVA. between school three and school |
seventeen - ‘
Mean of Mean of Mean SEp D s
school 3 school 17 difference " D
‘ .01
44.8 33.91 -10.89 3.32 6.54
8.63
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Table 5.59 indicated that mean achievement of school three was 44.8 and that
of school seﬁenteen was 33.91. There was observed difference of 10.89, which
was greater than expected value at both the levels. Thus, the mean difference
was found to be significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 3 and school 17 was
rejected. '

So it can be concluded that there was significant difference in the mean

achievement of school 3 and school 17.

Table 5.60
Tests of difference by use of post-ANOVA between school three and school
eighteen '

Mean of Mean of Mean - SEp Dys
school 3 school 18 difference ' ' D

_ o , : . Da

44.8 13038 14.42 . 362 | 113

‘ 9.41

Table 5.60 indicated that mean achievement of school three was 44.8 and that
of school eighteen was 30.38. There was observed difference of 1442, which
was greater than expected value at both the le\}els. Thus, the mean difference
" was found to be significant and so the null hypothesis stating that there will be
| no significant differenbe in achievement of school 3 and school 18 was
rejected.

So it can be concluded that there was signiﬁcant difference in the mean
. achievement of school 3 and school 18.

_ A Table 5.61 |

Tests of difference by use ‘of post-ANO_YA b_etwgeg sphqol threg apd .s.choql_ .

" ‘nineteen

Mean of Mean of Mean SEp Dgs
school 3 - school 19 difference- D
‘ 01
44.8 40.83 3.97 3.97 7.82
10.32
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Table 5.61 indicated that mean achievement of school three was 44.8 and thét
of school nineteen ‘was 40.83. There was observed difference of 3.97, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 3 and school 19 was
accepted. | | | B
So it can be concluded that there was no significant difference in the mean

achievement of school 3 and school 19._

Table 5.62
Tests of difference by use of post-ANOVA between school three and school
twenty

- Mean of Mean of Mean SEp D s
school 3 school 20 difference . ' D
: 4 o1
44.8 . 40.0 - 4.8 397 -1.82
| | 10.32

Table 5.62 indicated that mean achievement of school three wés 44.8 and that
of school twenty was 40.0. There was observed difference of 4.8, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 3 and school 20 was
accepted. : |

So it can be concluded that there was no significant difference in the ‘mean

achievement of school 3 and school 20.

- Tablé 5.63 iridicated that mean achievement of school four was 32.6 and that of =~
school five was 37.9. There was observed difference of 5.3, Which was lesser |
than expected value at both the levels. Thus, the mean difference wés found to
be not significant and so the null hypothesis stating that there will be no

significant difference in achievement of school 4 and school 5 was accepted.
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Table 5.63
Tests of difference by use of post-ANOVA between school four and school

five
Mean of Mean of Mean SEp D s
school 4 school 5 difference D
01
32.6 37.9 53 3.41 6.72
' | - 8.87

So it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 5.

Table 5.64
Tests of dlfference by use of post-ANOVA between school four and school six
Mean of Mean of Mean SEp Dos
school 4 school 6 - difference Do
. 01
32,6 40.38. 7.78 3.24 6.38
' 8.42

Table 5.64 indicated thaf mean achievement of school four was 32. 6 and that of
school six was 40.38. There was observed difference of 7.78, whxch was
greater than expected value at 0.05 level. Thus, the mean diﬁ‘erencc was found
to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 4 and school 6 was réjected

So it can be concluded that there was sxgmﬁcant dlfference m the mean

achievement of school 4 and school 6

- Table 5.65 indicated that mean achievement of school four was 32.6 and that of -
school seven was 34.5. There was observed difference of 1.9, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no

significant difference in achievement of school 4 and school 7 was accepted.
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Table 5.65

Tests of difference by use of post~ANOVA between school four and school

seven.

Mean of Mean of Mean SEp Dys
school 4 school 7 difference D

01

32.6 34.5 1.9 3.41 6.72

8.87

So it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 7.

Table 5.66 ,
Tests of difference by use of post-ANOVA between school four and school
eight
Mean of Mean of Mean SEp . Dgs
school 4 school 8 difference D
01
32.6 45.5 12.9 3.62 7.13
9.41

Table 5.66 indicated that mean achievement of school four was 32.6 and that of
school eight was 45.5. There was observed difference of 12.9, which was
greater than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 4 and school 8 was rejected.

So it éan be concluded that there was significant difference in the mean

achievement of school 4 and school 8.
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Table 5.67 o
Tests of difference by use of post-ANOVA between school four'-.a“nd y_sg:ﬁoc‘)‘r‘"f{

C D
g

J
/

15 ,

nine
Mean of Mean of Mean SEp D s
school 4 school 9 difference D
01
32.6 34.5 1.9 3.41 6.72
8.87

Table 5.67 indicated that mean achievement of school four was 32.6 and that of
school five was 34.5. There was observed difference of 1.9, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 4 and school 9 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 9.

Table 5.68
Tests of difference by use of post-ANOVA between school four and school ten

Mean of Mean of Mean SEp D s
school 4 school 10 difference D

01

32.6 34.45 1.85 3.32 6.54

8.63

Table 5.68 indicated that mean achievement of school four was 32.6 and that of
school ten was 34.45. There was observed difference of 1.85, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 4 and school 10 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 10.
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Table 5.69
Tests of difference by use of post~ANOVA between school four and school

eleven
Mean of Mean of Mean SEp - D os
school 4 school 11 difference D, '
01
32.6 35.56 - 296 . 3.50 , 6.89
- 9.1

Table 5.69 indicated that mean achievement of school four was 32.6 and that of '
school eleven was 35.56. There was observed difference of 2.96, which was
lesser than expected value at both the levels. Thus, the mean difference was
-found to be not significant and so the null hypothesis stating that there will be
no significant difference. in achievement of Aschooll 4 and school 11 was
accepted. |

So 1t can be concluded that there was no s1gnlﬁcant difference in the mean

achievement of school 4 and school 11

Table 5.70
Tests of difference by use of post~ANOVA between school four and school
twelve

Mean of Mean of Mean SEp . Dys

" school 4 school 12 difference D.
- B . .01
32.6 38.88 6.28 3.62 7.13
9.41

.. Table 5.70 indicated that mean achievement of school four was 32.6 and that of
school twelve was 6.28. There was observed differenée of 6.28, which was

lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 4 and school 12 was

accepted.
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" So it can be concluded that there was no significant difference in the mean

achievement of school 4 and schqol 12.

Table 5.71
Tests of difference by use of post~ANOVA between school four and school
thirteen | '

Mean of Mean of Mean SEp Dys
school 4 school 13 difference D
_ : : 01
32.6 4125 8.65 3.24 638
8.42

Table 5.71 indicated that mean achievement of school four was 32.6 and that of

schoolﬁ.thhteen was 41.25. There was observed difference of 8.65, which was
greater thaﬁ expected value at both the levels. Thus, the mean difference was

found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 4 and schdol 13 was rejected.

So it can be concluded that there was significant difference in the mean -

achievement of school 4 and school 13.

Table 5.72
Tests of difference by use of post-ANOVA between school four and school
fourteen

 Mean of Mean of ‘Mean SEp Ds
school 4 school 14 difference D

an , , 01

32.6 - 30.94 1.66 3.07 - 6.05

7.98

Table 5.72 indicated that mean achievement of school four wés 32.6 and that of
school fourteen was 30.44. There was observed difference of 1.66, which was
lesser than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hjpoﬂlesis stating that there will be
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no significant difference in achievement of school 4 and school 14 was
accepted.
So-it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 15.

, Table 5.73
Tests of difference by use of post~ANOVA between school four and school
fifteen

* Mean of Mean of Mean - SEp " Dys
" school 4 school 15 | difference : D
- o1
32.6 38.5 5.9 3.41 6.72
8.87

Table 5.73 indicated that mean achievement of school four was 32.6 and that of
school fifteen was 38.5. There was observed difference of 5.9, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 4 and school 15 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 15.

Table 5.74
Tests of difference by use of post-ANOVA between school four and school

sixteen , ‘

Mean of Mean of Mean SEp Dgs
_school4 | school16. .| difference |- . ... . Do

01-

- 326 35 24 341 6.72

8.87

Table 5.74 indicated that mean achievement of school four was 32.6 and that of .

school sixteen was 35.0. There was observed difference of 2.4, which was
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lesser than expected value at both the levels. Thus, the mean difference was
found to be not signiﬁcﬁnt and so the null hypothesis stating that there will be
no significant difference in achievenient of school 4 and school 16 was
accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 16.

, Table 5.75
Tests of difference by use of post-ANOVA between school four and school
seventeen ' '
Mean of Mean of - Mean SEp D s
school 4 school 17 difference D
' 01
" 326 33.91 1.31 3.32 6.54
3 8.63

Table 5.75 indicated that mean achievement of school four was 32.6 and that of
school seventeen was 33.91. There was observed difference of 1.31, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 4 and: school 17 was
accepted.

So it can be concluded that there was no significant difference in fhe mean

achievement of school 4 and school 17.

Table 5.76

- Tests-of -differgnce—by use of post-ANOVA: betweenschool four and-school

" cighteen o . ol

Mean of Mean of Mean SE;, "Dos
school 4 school 18 difference D

01

32.6 30.38 2.22 3.62 7.13

9.41
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Table 5.76 indicated that mean achievement of school four was 32.6 and that of
| school eighteen was 30.38. There was observed difference of 2.22, which was
lésser than expected value at both the levels. Thus, the mean difference was
found to be not éigniﬁcant and so the null hypothesis stating that there will be
no significant difference in achievémenf of school 4 and scho‘ql 18 was
accepted. | ' ,

So it can be concluded that there was no signiﬁé’ant diffefence in the mean

achievement of school 4 and school 18.

Table 5.77
Tests of difference by use of post-ANOVA between school four- and school
mneteen
Mean of Mean of Mean SEp Dos
school 4 school 19 difference : D
. o .0t
326 40.83 8.23 3.97 7.82
' o 10.32

Table 5.77 indicated that mean achievement of school four was 32.6 and that of
school nineteen was 37.9. There was observgd differefnce of 8.23, which was
greater‘than. expected value at 0.5 level. Thus, the meféml difference was found
to - be significant and so the null hypothesis statiné that there will be no
significant difference in achievement of school 4 and séhool 19 was rejected.

So it can be concluded that there was significant dlfference in the mean

achlevement of school 4 and school 19

- Table 5.78 indicated that mean achievement of school four was 32.6 and that of
school twenty was 40.0. There» was observed difference of 7.4, which was
lesser than expected value at both the levels. Thus, the mean diﬁ'erence was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 4 and school 20 was

accepted.
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Table 5.78

Tests of difference by use of post~ANOVA between school four and school

twenty
Mean of Mean of Mean SEp Ds
school 4 school 20 difference D
: 01
32.6 40.0 7.4 3.97 7.82
10.32

So it can be concluded that there was no significant difference in the mean

achievement of school 4 and school 20.

Table 5.79
Tests of difference by use of post-ANOVA between school five and school six
Mean of Mean of Mean SEp Ds
school 5 school 6 difference D
, 01
379 40.38 2.48 3.24 6.38
8.42

Table 5.79 indicated that mean achievement of school five was 37.9 and that of
school six was 40.38. There was observed difference of 2.48, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 5 and school 6 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 5 and school 6.
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seven

Table 5.80
 Tests of difference by use of post-ANOVA between school five and school ~

Mean of Mean of - Mean SEp D s
school 5 school 7 difference D

01

37.9 34.5 34 341 6.72

" 8.87

,.Tablé 5.80 indicated that mean achievement of school five was 37.9 and that of
school seven was 34.5. There was observed difference of 3.4, whicﬁ was lesser
thaﬁ expected value at both the levels. Thus, the mean differenée was found to
be not significant and so the null hypothesis stating that there ‘_ will be no
~ significant difference in achievement of school 5 and school 7 was aécepted. |

So it can be concluded that there was no signiﬁcan‘t} difference m the mean

achievement of schoql 5 ahd school 7.

Table 5.81
Tests of difference by use of post-ANOVA between school five and school

eight

* Mean of Mean of Mean SEp D s
school 5 school 8 difference- D

: 01

37.9 455 7.6 T 3.62 ' - 713

9:41

Table 5.81 indic%tted that mean achievement of school five was 37.9 and that of -

.. school eight was 45.5. There was observed difference of 7.6, which was greater ...

. ‘than expected value at 0.05 level. Thus, the mean- difference- was -found to be
significant and so the null hypothesis stating that there will be no significant
difference in achievement of school 5 and school 8 was rejected.

So it can be concluded that there was significant difference in the ‘mean ,‘

achievement of school § and school 8.
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Table 5.82

Tests of difference by use of post-ANOVA betWeen school five and school

nine
" Mean of Mean of Mean SEp D os
school 5 school 9 - difference D
, 01
37.9 34.5 3.4 3.41 6.72
8.87

Table 5.82 indicated that mean achievement of school five was 37.9 and that of
school nine was 34.5. There was observed difference of 3.4, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no ’
significant difference in achievement of school 5 and school 9 was accepted.

So it can be concluded that there was no signiﬁcant difference in the mean

achievement of school 5 and school 9.

Table 5.83

Tests of difference by use of post-ANOVA between sé_hool five and school ten
Mean of Mean of Mean SEp Dys
school § school 10 difference D

< o1
379 - 34.45 3.45 3.32 6.54
‘ 8.63

Table 5.83 indicated that mean achievement of school five was 37.9 and that of
_.school ten was 34.45. There was observed difference of 3.45, which was lesser
- than-expected value at both-the levels. Thus, the mean difference was found to
be not significant 'and so the null hypothesis stating that there will be no
significant difference in achievement of school 5 and school 10 was accepted.
So it can be concluded that there was no significant difference in the mean

achievement of school 5 and school 10.
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Table 5.84 -
Tests of difference by use of post-ANOVA between school five and school

eleven
Mean of ~ Mean of Mean SEp D s
school 5 school 11 difference D
| 01
379 35.56 2.34 3.50 6.89
9.1

Table 5.84 indicated that mean achievement of school five was 37.‘9 and that of

school eleven was 35.56. There was observed difference of 2.34, which was

lesser than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hypothesis stating that there will be
‘no significant difference in achievement of school § and school 11 was -

accepted. 4
So it can be concluded that there was no significant difference in the mean

achievement of school 5 and school 11.

Table5.85
Tests of difference by use of post-ANOVA between school five and school
twelve ' '

Mean of Mean of Mean SEp Dys
school 5 school 12 difference D

. 01

379 38.88 0.98 3.62 7.13

941

-- Table 5.85 indicated that mean achievement of school five was 37.9 and that of e
school twelve was 38.88. There was observed difference of 0.98, which was
lesser than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hypothesis stating that there will be
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no signiﬁcant difference in achievement of school 5 and school 12 was
‘accepted.
So it can be concluded that there was no significant difference in the mean

achievement of school 5 and school 12.

Table 5.86
Tests of difference by use of post-ANOVA between school five and school
thirteen

Mean of Mean of Mean SEp | Ds
school 5 school 13 difference D

. 01

37.9 41.25 3.39 3.24 6.38

| 8.42

Table 5.86 indicated that mean achievement of school five was 37.9 and that of
school thirteen was 41.25. There was observed difference of 3.39, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 5 and school 13 was -
accepted.

So it can be concluded that there was no significant difference in.the mean

achievement of school 5 and school 13.

Table 5.87 .
Tests of difference by use of post-ANOVA between school five and school
fourteen

“Mean of Mean of Mean SEp Dgs
school § school 14 difference 1D
01
379 30.94 6.98 3.07 6.05
7.98
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Table 5.87 indicated that mean achievement of school ﬁvewas 37.9 and that of
school fourteen was 30.94. There was observed difference of 6.98; which was’
lesser than expected value at 0.05 level. Thus, the mean difference was found
to be sigxﬁﬁcant and so the null hypothesis stating that there will be no
significant difference in achievement of school 5°and school 14 was rejected.

So it can be concluded that there was significant dlfference in the mean

achlevement of school 5 and school 14.

Table 5.88
© Tests of difference by use of post-ANOVA between: scheoli five and school
fifteen ' | '

SEp

D.OS

Mean of Mean of Mean
school 5 school 15 ‘difference D
‘ A . 01
379. 38.5 0.6 3.41 672
B - 8.87

Table 5.88 indicated that mean achievement of school ﬁvej was 37.9 and that of |
school fifteen was 38.5. There was observed diﬁ’ere‘ncé of 0.6, which wes lesser
than expected value at both the levels: Thus, the mean difference was found to
be not significant and so the null hypothesm statmg that there wﬂl be no
significant difference in achievement of school 5 and school 15 was accepted

- So it can be concluded that there was no 51g1uﬁcant difference in the mean

achievement of school 5 and school 15.A

Table 5.89
-+ Tests-of difference by use-of post-ANOVA between school ﬁve and school
sixteen i N ‘
Mean of Mean of Mean SEp Dys
school 5 school 16 difference Do
01
379 35.0 29 341 6.72
8.87
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Table 5.89 indicated that fnean achievement of school five was 37.9 and that of
school sixteen was 40.38. There was observed difference of 2.9, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be nét significant and so the null hypothesis stating.that there will be
no significant difference in achievement of school 5 and school 16 was
accepted. | -

So it can be concluded ‘that there was no significant difference in the mean

achievement of school 5 and school 16.

. A Table 5.90 ,
Tests of difference by use of post-ANOVA between school five and school
' ~ seventeen '

Mean of Mean of Mean SEp Dos

school 5 school 17 difference D
: ‘ 01

37.9 33.91 3.99 " 3.32 ' 6f54 :

| ‘ | 8.63

~ Table 5.90 indicated that mean achievement of school five was 37.9 and that of
* school seven was 33.9.1. There was observed diffefence of 3.:99, which was
lesser than expected value at both the levels. Thus, the mean differencé was
found to be not significant and so the null hypothesis stating that 'vthere will be
no siggiﬁcant' diﬂ‘ereﬁcg: in achievement of school 5 and jschool 17 was
accepted. |

*.So it can be concluded that there was no significant difference in the mean

. achievement of school 5 and school 17.
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Table 5.91

Tests of difference by use of pbst-ANOVA between school five and school

eighteen
Mean of Mean of Mean SEp D‘-os
school 5 school 6 difference D
01
37.9 30.38 7.52 3.62 7.13
941

Table 5.91 indicated that mean achie\}emenf of school five was 37.9 é_nd that of
school eighteen was 30.38. There was observed difference of 7.52, which was
greater than expected value at 0.05 level. Thus, the mean difference was found
to be significant and so the null hypothesis staﬁng that there will be no
signiﬁcanf difference in achievement of school 5 and school 18 was rejected.

So it can be concluded that there was significant difference in the mean

‘achievement of school 5 and school 18, °

. | Table 5.92 :

Tests of difference: by use of post-ANOVA between school five and school
nineteen

Mean of Mean of Mean SEp D s

school 5 _school 19 difference : D

.01
37.9 40.83 2.93 3.97 - 7.82
‘ 10.32

Table 5.92 indicated that mean achievement of school five was 37.9 and that of
school six- was 40.83, There was observed difference of 2.93, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no

significant difference in achievement of school 5 and school 19 was accepted.
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So it can be concluded that there was no significant differencé in the mean

achievement of school 5 and school 19.

Table 5.93
Tests of difference by‘ use of post-ANOVA between school five and school
- twenty

Mean of Meanof | Mean SEp Ds

school 5 ‘ school 20 difference. | - : Doy
379 = - 40.0 2.1 -3.97 : 7.82
10.32

Table 5.93 indicated that mean achievement of school ﬁ\}'e was 3'7.9; and that of
school twenty was 40.0. There was observed difference of 2.1, which was
~ lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so fhe null 4hyp6thesis stafing that there will be
no significant difference in achievement of school 5 and school 20 was
. accepted. , '

So it can be concluded that there was no significant difference in the mean

achievement of school 5 and school 20.

Table 5.94

Tests of difference by use of post~ANOVA between school six and school
seven 4

Mean of Mean of Mean - SEp 1. Dgs .

school 6 school 7 difference D

_ _ : o1
- 40,38 - 34.5 h 5.88 1 3.24 - 6.38
. ’ ' | 8.42

Table 5.94 indicated that mean achievement of school six was 40.38 and that of
school seven was 34.5. There was observed difference of 5.88, which was

lesser than expected value at both the levels. Thus, the mean difference was
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found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 6 and school 7 was accepted. -
So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 7.

Table 5.95
Tests of difference by use ofpost-AN OVA between school six and school eight
Mean of Mean of Mean SEp - Dys
school 6 - school 7 difference - Do
01
- 40.38 45.5 5.12 345 6.80
. 897

Table 5.95 indicated that mean achievement of school six was 40.38 and that of
school eight was 45.5. There was observed difference of 5.12, which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 6 and school 8 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 8. »

Table 5.96
Tests of difference by use of post-ANOVA between school six and school nine
Mean of Mean of Mean SEp Dys
. school 6 school 9 - difference D
: . 01
40.38 34.5 5.88 3.24 6.38
- 8.42

Table 5.96 indicated that mean achievement of school six was 40.38 and that of
school nine was 34.5. There was observed difference of 5.88, which was lesser

than expected value at both the levels. Thus, the mean difference was found to
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be not significant and so the null hypothesis sfating that there will be no
significant difference in achievement of school 6 and school 9 was accepted.
So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 9.

Table 5.97 |
Tests of difference by use of post-ANOVA between school six and school ten
Mean of Mean of Mean SEp Dys- .
school 6 school 10 difference |- : : D
4 | : 01
40.38 34.45 5.93 3.15 - 6.20
8.19

Table 5.97 indicated that mean achiévement of school six was 40.38 and that of
school ten was 34.45. There was observed difference of 5.93, which Was lesser
‘than expected value at both the levéls. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 6 ahd school 10 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 10.

~ Table 5.98 ‘
Tests of difference by use of ﬁqst-ANOVA between school six and school
eleven '
Mean of Mean of Mean SEp D s
school 6 school 11 difference D
01
4038 35.56 4,82 3.33 6:56
] : - 8.66

Table 5.98 indicated that mean achievement of school six was 40.38 and that of
school eleven was 35.56. There was observed difference of 4.82, which was.

lesser than expected value at both the levels. Thus, the mean difference was
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found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 6 and school 11 was
accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 11.

Table 5.99
Tests of difference by use of post-ANOVA between school six and school
twelve | '

Mean of Mean of Mean SEp Dos

" school 6 school 12 difference D
, 01
40.38 38.88 1.5 345 6.80
8.97

Table 5.99 indicated that mean achievement of school six was 40.38 and that of
school twelve was 38.88. There was observed difference of 1‘.5, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 6 and school 12 was
accepted. v

So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 12.

- Table 5.100 -
Tests of difference by use of post-ANOVA between school six and school
thirteen | |

Mean of ~ Meanof | - Mean - “SEp : 15_‘“05' -
school 6 school 13 difference D
. 01
40.38 41.25 0.87 3.05 6.01
‘ 7.93
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Table 5.100 indicated that mean achievement of school six was 40.38 and that
of school thirteen was 41.25. There was observed difference of 0.87, Which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 6 and school 13 was
accepted. | A

~ So it can be concluded that there was no significant difference in the 'meanl

achievement of school 6 and school 13.

Table 5.101 _
Tests of difference by use of post-ANOVA between school six and school
fourteen . - o

Mean of Mean of Mean SEp D s
school 6 school 14 difference D

A . Da

40.38 30.94 9.44 | 2.85 5.61

7.41

Table 5.101 indicated that mean achiévement of sbhool six was 40.38 and that -

of school fourteen was 30.94. There was observed difference of 9.44, which

‘was greater than expected value at both the levels. Thus, the meaﬁ difference . .

was found to be significant and so the null hypothesis stating that there will be
10 significant difference in’ achievement of school 6 and school 14 was
rejected.

So it can be concluded that there was significant difference in the mean
achievement of school 6 and school 14.

. Téble'SJOZ indicated that mean achievement of s

of school fifteen was 38.5. There was observed difference of 1.5, which was
lesse_r than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hypothesis stating that there will be
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no significant difference in achievement of school 6 and school 15 was

“accepted.
Table 5.102
Tests of difference by use of post-ANOVA between school six and school
fifteen

Mean of Mean of Mean SEp Dos
school 6 school 15 difference Doy
40.38 385 . 1.5 3.24 6.38
8.42

So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 15.

Table 5.103
Tests of difference by use of post-ANOVA between school six and school
sixteen
Mean of Mean of ‘Mean SEp - Dys
school 6 school 16 difference ‘ D
01
40.38 35.0 5.38 3.24 6.38
8.42

Table 5.103 indicated that mean achievement of school six was 40.38 and that
of school seven was 35.0. There was observed difference of 5.38, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis. stating that there will be
. no significant difference in achievement of school 6 and school 16 was
accepted. ;

So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 16.
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Table 5.104
Tests of difference by use of post-ANOVA between school six and school

~ seventeen
Mean of Mean of Mean SEp Dgos
school 6 school 17 difference - D
. 01
40.38 33.91 6.47 315 6.20
8.19

. of school eighteen was 30.38. There was observed difference of 10.0 which

Table 5.104.indicated that mean achievement of school six was 40.38 énd that
of school seventeen was 33.91. There was observed difference of 6.47, which
was greater than expected value at 0.05 level. Thus, the mean difference was
foﬁnd to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 6 and school 17 was rejected.

So it can be concluded ‘that there was significant difference in the meém

achievement of school 6 and school 17.

. Table §.105
Tests of difference by use of post-ANOVA. between school six and school
e_i'ghteeh ‘
Mean of Mean of Mean - -SEp Dgs
school 6 school 18 difference D
_ 01
40.38 30.38 100 3.45 - 6.80
8.97

Table 5.105 indicated that mean aéhievemcnt of school six was 40.38 and that

was -greater than expecfed value at both the levels. Thus, the mean difference
was found to be significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 6 and school 18 was

rejected.
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So it can be concluded that there was significant difference in the mean

achievemeht of school 6 and school 18.

Table 5.106
Tests of difference by use of post-ANOVA between school six and school
nineteen
Meanof |. Meanof Mean SEp D s
school 6 school 19 difference 1 D
| : e , 01
40.38 40.83 0.45 3.81 7.51
o 991 -

Table 5.106 indicated that mean achievement of school six was 40.38 and that
of school nineteen was 40.83.' Thcre wés observed difference df 0.45, which
was lesser than expected value at both the levels. Thus,: the mean diffefence
was found to be not signiﬁcant and so the null hypothesis stating thét there will
be no significant difference in achievement of school 6 and school 19 was
accepted. _ ' ‘ |

Sq it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 19.

A Table 5.107
Tests of difference by use of post-rANOVA' between school six and school
 twenty ‘

Mean of Mean of Mean SEp Ds
school 6 school 20 difference - ' D

.01

- 4038 - 40.0 - 0.38 ~3.81 - 7.51

i - 991

Table 5.107 indicated that mean achievement of school six was 40.38 and that
of school twenty was 40.0. There was observed difference of 0.38, which was

lesser than expected value at both the levels. Thus, the mean difference was
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found to beAnot significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 6 and school 20 was
accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 6 and school 20.

Table 5.108
- Tests of difference by use of post-ANOVA between school seven and school

eight

Mean of Mean of Mean SEp : Dgs
school 7 school 8 difference D
: . o1
34.54 45.5 11.0 3.62 7.13
9.41

Table 5.108 indicated that mean achievement of school seven was 34.5 and that -
of school eight was 45.5. There was observed difference of 11.0, which was
greater than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 7 and school 8 was rejected. |

So it can be concluded that there was significant difference in the mean

achievement of school 7 and school 8.

Table 5.109
Tests of difference by use of post-ANOVA between school seven and schoql
nine ' |
 “Meatiof | Meéanof | Mean | SEp " | Dgs |
~school 7 school 9 difference D
01
345 34.5 0.0 3.41 6.72
8.87
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Table 5.109 indicated that mean achievement of school seven was 34.5 and that
of school eight was 34.5. ,there was no difference observed. Thus, the mean
difference was found to be not significant and so the null hypothesis stating
that there will be no significant difference in achievement of scﬁool 7 and
school 9 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 7 and school 9.

Table 5.110
Tests of difference by use of post-ANOVA between school seven and school
ten
Mean of Mean of Mean SEp Dys
school 7 school 10 difference D
01
34.5 3445 -0.05 3.32 6.54
| 8.63

Table 5.110 indicated that mean achievement of school seven was 34.5 and that
of échool ten was 34.45. There was observed difference of 0.05, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis }stating that there will be
no significant difference in achievement of school 7 and school 8 was accepted.

So it can be concluded. that there was no significant difference in the mean

achievement of school 7 and school 10.

Table 5.111
Tests of difference by use of post~ANOVA between school seven and school
eleven | o R
Mean of Mean of Mean SEp Dos
school 7 school 11 difference D
, o1
34.5 35.56 1.06 3.50 . 6.89
9.1
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Table 5.111 indicated that mean achievement of school seven was 34.5 and that
of school eleven was 35.56. There was observed difference of*1.06, which was
lesser than expected value at both 'the levels. Thus, the mean difference was
found to Vbe not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 7 and school 11 was
accepted.

So it can be concluded that there was no significant difference in the mean ‘

achievement of school 7 and school 11.

Table 5.112
Tests of difference by use of post-ANOVA between school seven and school
twelve

Mean of Meanof |  Mean SEp D

school 7 school 12 difference R ' D
) - : . 01
34.5 38.88 438 3.62 7.13
941

Table 5.112 indicated that mean achievement of school seven was 3;1.5 and that
of school twelve was 38.88. There was observed difference of 4.38; which was
lesser than expected value at both the levels. Thus, the mean difi‘erence was
found to be hot significant and so the null hypothesis stating that t%xére will be
no significant difference in achievement of school 7 and school 12 was
accepted. | |

So it can be concluded that tl;ere was no significant difference in the mean

achievement of school 7 and school 12.
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Table 5.113
Tests of difference by use of post-ANOVA between school seven dnd school
thirteen

Mean of Meanof |  Mean ~ SEp D s
school 7 school 13 difference Do
: 01
345 4125 6.75 324 | 638
" ‘ | o 842

Table 5.113 indicéted that mean achievement of school seven was 34.5 and that
of schdol thirteen was 41.25. There was observed difference of 6.75, which was
greéter than expected value at 0.05 level. Thus, the mean difference was found
to be significant and so the hull hypdthesis stating that there will be no
significant difference in achievement of school 7 and school 13 was rejected.

So it can be concluded that there was signiﬁégpt differgnce in the mean

achievement of school 7 and school 13.

; Table 5.114
Tests Qf difference by use of post~ANOVA between school seven and school
fourteen ’ ‘

‘Mean of Mean of Mean SEp Ds
school 7 school 8 difference D

01

34.5 30.94 3.56 13.07 6.05

7.98

: ‘Table 5.114 indicated that mean achievement of school seven was 34.5 and that
of school fourteen was 30.94. There was observed difference of 3.56, which.
- was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
‘be no significant difference in achievement of school 7 and school 8 was

‘accepted.
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So it can be concluded that there was significant difference in the mean

achievement of school 7 and school 14.

" Table 5.115 |
Tests of difference by use of post-ANOVA between school seven and school
fifteen

Mean of Mean of Mean SEp Dgs -
school 7 school 15 difference D
) 01
345 38.5 -4 3.41 - 6.72
- 8.87

Table 5.115 indicated that mean achievement of school seven was 34.5 and that
of school fifteen was 38.5. There was observed difference of 4, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not éi‘gniﬁcant,and so the null hypothesis stating that there will be
no_ significant difference in achievement of school 7 and séhool 15 was
acéepted. ;

So; it can be concluded that there was no significant difference in the mean%

écﬁievement of school 7 and school 15.

_ Table 5.116
Tests of difference by use of post-ANOVA between school seven and school
sixteen '
Mean of' Mean of Mean . SEp Dys
school 7 school 8 difference - D
: 01
- 34.5 35 0.5 341 - | 672
L SR A S X 7 A

Table 5.116 indicated that mean achievement of school seven was 34.5 and that
of school sixteen was 35. There was observed difference of 0.5, which was" -

lesser than expected value at both the levels. Thus, the mean difference was
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found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 7 and school 16 was
accepted. So it can be concluded that there was significant difference in the

mean achievement of school 7 and school 16.

Table 5.117

Tests of difference by use of post-ANOVA between school seven and school
seventeen | ‘
Meanof | - Mean of Mean | . SEp. " Dys
school 7 school 17 difference , Dy
34.5 33.91 0.59 3.32 ' 6.54
| | | 8.63

Table 5.117 indicated that mean achievement of school seven was 34.5 and that
of school seventeen was 33.91. There was observéd difference of 0.59, which
‘was lesser than expected value at both the levels. Thus, the mean difference
was found to be nbt signiﬁcanf and so fhe null hypothesis stating theit there will
be no significant difference in achievement of school 7 and Schpol 17 was:
accepted. | , ‘ | »
So it can be concluded that there was no significant difference in the mean

achievement of school 7 and school 17.

| , Table 5.118
Tests of difference by use of postTANOVA between school seven and school
éighteen '

| - "Mean of Meanof 7| Mean | SEp | = Dgs
~ school 7 school 18 difference o D.
Ll : o1
34.5 30.38 - 412 3.62 7.13

9.41
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Table 5.118 indicated that mean achievement of school seven was 34.54 and

that of school eighteen was 30.38. There was observed difference 6f 4.12, |
which was greater than expected value at both the levels. Thus, the mean
diffefence was found to be not significant and so the null hypothesis stating
that there will be no significant difference in achievément of school 7 and
school 18 was accepted. So it can be concluded that there was no significant

difference in the mean achievement of school 7 and school 18.

Table 5.119 .
Tests of difference by use of post-ANOVA between school seven and school |
nineteen
Mean of Mean of Mean SEp Dgs
school 7 school 19 difference D
i . v .01
34.5 40.83. 6.33 3.97 - 1.82
10.32

Table 5.119 indicated that mean achievement of school seven was 34.5 and that
-~ of schooi'l9 was 45.5. There was observed differénce of 6.33, which was lesser :
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no-
significant difference in achievement of school 7 and school 19 was accepted.
So it can be concluded that theré was no significant difference in the mean

achievement of school 7 and school 19.

Table 5.120
- Tests of difference by use of post-ANOVA between school seven and school
20

Mean of Mean of Mean SEp D s
school 7 school 8 difference D
01
34,5 40 5.5 3.97 7.82
10.32
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Table 5.120 indicated that mean achievement of school seven was 34.5 and that
'of school eight was 40. There was observed difference of 5.5 which was lesser
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 7 and school 20 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 7 and school 20.

Table 5.121
Tests of difference by use of post-ANOVA between school eight and school
nine
Mean of Mean of Mean SEp Dgs
school 8 school 9 difference D
.01
45.5 345 11 3.62 713
9.41

Table 5.121 indicated that mean achievement of school eight was 45.5 and that
of school nine was 34.5. There was observed difference of 11.0, which was
greater than expected value at both the levels. Thﬁs, the mean difference was
found to be significant and so the null hypothesis' stating that there will be no
significant difference in achievement of school 8 and school 9 was rejected.
So it can be concluded that there was significant difference in the mean

achievement of school 8 and school 9.

Table 5.122
Tests of difference by use of post-ANOVA between school eight and school
e . L o o
Mean of Mean of"' ' Mean SED Dos
school 8 school 10 difference D
.01
45.5 3445 11.05 35 6.97
9.20
180 Chapter s -



Table 5.122 indicated that mean achievement of school eight was 45.5 and that
of school ten was 34.45. There was observed difference of 11.05, which was
greater than expected value at both the levels. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 8 and school 10 was rejected.

So it can be concluded that there was significant difference in the mean

achievement of school 8 and SChdol 10.

Table 5.123
Tests of difference by use of post-ANOVA between school eight and school
eleven ‘ -
- Mean of Mean of Mean SEp Ds
school 8 school 11 difference D
01
45.5 35.56 9.94 3.70 7.29
' 9.62

. Table 5.123 indicated that mean achievement of school eight was 45.5 and that'
of school eleven was 35.56. There was observed difference of 9.94, which was:
greater than expected value at both the levels. Thus, the mean difference was'
found to be significant and so the riull hypothesis stating that ’ther§ will be noy
significant difference in achievement of school 8 and school 11 was rejected.

So it can be concluded that there was significant difference in the mean

achievement of school 8 and school 11.

Table 5.124

- Tests- of difference by use of post-ANOVA between school eight and school

twelve.
Mean of ~ Mean of Mean SEp D s
school 8 school 12 difference D
.01
45.5 38.88 . 6.62 3.82 7.52
9.93
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» Table 5.124 indicated that mean achievement of school eight was 45.5 and that
of school twelve was 38.88. There was observed difference of 6.62, which was
lesser than expected value at both the 4levels. Thus, the mean difference was
found to be not significant and so the nuﬂ hypothesis stating that there will be
n§ significant difference in achievement of school 8 and school 12 was
accepted. | A

" So it can be concluded that there was no significant difference in the mean |

achievement of school 8 and school 12.

, Table 5.125
Tests of difference by use of post-ANOVA between school eight and school
thirteen |

Dys

Mean of Mean of Mean SEp
school 8 school 13 difference D
L. o - . 01
45.5 4125 425 3.45 6.80
‘ 8.97

Table 5.125‘ indicated that mean achievement of school eight was 45.5 and that
- of school thirteen was 41.25. There was observed difference of 4.25, which was
lesser than' expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
ﬁo significant difference in achievement of school 8 and school 13 was
accepted.

So it"can be concluded that there was no significant giifference in the mean -

achievement of school 8 and school 13.

" *"Table 5.126 indicated that mean achievement of school eight was 45.5 and that

of School fourteen was 30.94. There was observed difference of 14.56, which
was greater than expected value at both the levels. Thus, the mean difference
was found to be significant and so the null hypothesis stating that there will be - f
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no significant difference in achievement of school 8 and school 14 was

rejected.

Table 5.126
Tests of difference by use of post-ANOVA between school eight and school

fourteen

Mean of Mean of Mean SEp D s
school 8 school 14 difference D

01

45.5 30.94 14.56 3.30 6.50

8.58

So it can be concluded that there was significant difference in the mean

achievement of school 8 and school 14.

Table 5.127
Tests of difference by use of post-ANOVA between school eight and school
fifteen |
Mean of Mean of Mean SEp D s
school 8 school 15 difference D
- 01
45.5 38.5 7.0 3.62 7.13
9.41

Table 5.127 indicated that mean achievement of school eight was 45.5 and that
of school fifteen was 38.5. There was observed difference of 7.0, which was
lesser than expected value at both the levels. Thus, the mean difference was

_found to be not significant and so the null hypothesis stating that there will be-

--no significant difference- in achievement of school 8 and -school 15 was .

accepted.
So it can be concluded that there was no significant difference in the mean

achievement of school 8 and school 15.
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Table 5.128 ,
Tests of difference by use of post-ANOVA between school eight and school

sixteen

Mean of " Mean of Mean SEp Dgs
school 8 school 16 difference D
o1
45.5 35.0 : 10.5 3.62 7.13
| 941

Table 5.128 indicated that mean achievement of school eight was 45.5 and that
of school sixteen was 35.0. There was observed A'diiference of 10.5, which was
greater than expected value at both the levels. Thﬁs, the mean difference was

found to be significant and so the null hypothesis étating that there will be no
significant difference’in achievement 6f school 8 and school 16 was rejected. |
So it can be concluded that there was signiﬂpant difference in the mean

achievement of school 8‘ and school 16.

, Table5.129 |
Tests of difference by use of post-ANOVA between school eight and school
" seventeen '
“Meanof | Meanof ‘Mean - SEp D s
school 8 school 17 difference . D

.01
45.5 33.91 11.59 3.55 6.99
9.23

Table 5.129 indicated that mean achievement of school eight was 45.5 and that
—was-greater than expected value at both the levels. Thus, the mean difference
was found to be significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 8 and school 17 was

rejected.
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So it can be concluded that there was significant difference in the mean

achievement of school 8 and school 17.

Table 5.130 »
Tests of difference by use of post-ANOVA between school eight and school |
eighteen | -

Mean of Mean of Mean SEp D s
school 8 school 18 difference ' D

: 01

45.5 30.38 1512 | 382 | 132

' 9.93

Table 5.130 indicated that mean achievement of school eight was 45.5 and that
of school eighteen was 30.38. There was observed difference of 15.12, which
was greater than expected value at both the levels. Thus, the mean difference
was found to be significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 8 and school 18 was
rejected. . |

So it can be concluded that there was significant difference in»_‘.{:ﬁé-'f 'ineaq .: |

achievement of school 8 and school 18.

_ Table 5.131

Tests of difference by use of post-ANOVA between séhobl eight and school
nineteen :
Mean of Mean of Mean SEp : Dys
. school 8 school 19 difference ' D
| : 01
- 455 40.83 4,67 4,12 8.12
“ o a owsom - e e - - - . ’ . . .10..71..,_, -

Table 5.131 indicated that mean achievement of school eight was 45.5 and that
of school nineteen was 40.83. There was observed difference of 4.67, which

was lesser than expected value at both the levels. Thus, the mean difference
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was found to be not significant and so the null hypofhesis stating that there will
be no significant difference in achievement of school 8 and school 19 was
accepted.

So it can be concluded that there was no significant difference in the mean

achievement of schodl 8 and school 19.

, Table 5.132
Tests of difference by use of post~ANOVA between school eight and school
twenty ‘

Mean of . . Mean of Mean SEp D s
school 8 school 20 difference D
N .01
45.5 40.0 55 4.12 8.12
10.71

| Table 5.132 indicated that mean achievement of school eight was 45.5 and that
of school twenty was 40.0. There was observed difference of 5.5, which'wasA
lesser than expected value at both the levels. Thus, the mean difference was
found to .be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 8 and school 20 was
aécepted. '

So it can be concluded that there was no significant difference in the mean

achievement of school 8 and school 20.

‘ ~ Table 5.133
Tests of difference by use of post-ANOVA between school nine and school ten

“Mean of Mean of ~ Mean " SEp Ds

. school 9 school 10 - |- -difference ~ |- .. - Do
01

345 34.45 - 0.05 3.33 6.56

8.66
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*. Table 5.133 indicated that mean achievement of school nine was 34.5 and that
of schéol ten was 34.45. There was observed difference of 0.05, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant diffeljence in achievement of school 9 and school 10 was
éccepted. | |

So it can be cpnbluded that there was no significant difference in the mean .

achievement of school 9 and school 10.

Table 5.134
Tests of difference by use of post—ANOVA between school nine-and school
“eleven
Mean of Mean of Mean SEp Dos
school 9 school 11 difference ‘ D
: A 01
345 35.56 1,06 3.50 689
9.1

Table 5.134 indicated that mean achievement of school nine was 34.5 and that
of school eleven was 35.56. There was observed -.differencé of 1.06, which was
lesser .than expected value at both the levels. Thus, the .mear_l difference was |
found to be not significant and so the null hypothesis stating that there will be |
no significant difference in achievement of school 9 and school 11 was
accepted. |

So it can be concluded that there was no éigniﬁcant difference in the mean

achievement of school 9 and school 11.

' Table 5.135 indicated that iiéan achievement of schodl nifié was 34.5 and that
of school twelve was 38.88. There was observed difference of 4.38, which was
lesser than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hypothesis stating that there will be ‘
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no significant difference in achievement of school 9 and school 12 was
accepted. |

Table 5.135
Tests of difference by use of post~ANOVA between school nine and school
twelve

Mean of Mean of Mean SEp Ds
school 9 school 12 difference D

o D

34.5 38.88 4.38 | 3.62 7.13

941

So it can be concluded that there was no significant difference in the mean

- achievement of school 9 and school 12.

Table 5.136 »
Tests of difference by use of post-ANOVA between school nine and school
thirteen ’

Mean of Mean of Mean SEp - D_os

school 9 - school 13  difference Dy
345 4125 6.75 3.27 . 644
8.50

Table 5.136 indicated that mean achievement of school nine was 34.5 and that 4
of school thirteen was 41.25. There was observed difference of 6.75, which was _
greater than expected value at 0.05 Tevel. Thus, the mean difference was found
to be significant and so the null hypothesis stating that there will be no
.. significant difference in achievement of school 9 and school 13 was rejected.

~-So-it can be “concluded that there was: significant difference in- the-mean

achievement of school 9 and school 13.
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Table 5.137
Tests of difference by use of post~ANOVA between school nine and school
fifteen

Mean of Mean of Mean |  SEp Dos
school 9 school 15 difference D
» o1
34.5 3094 3.56 3.07 | 6.05
7.98

Table 5.‘137 indicated that mean achievement of school nine was 34.5 and that
of school fifteen was 30.94. There was observed difference of 3.56, wh_ich was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 9 ahd school 15 was -
accepted. _

So it can be concluded that there was no significant difference in the mean

: abhievement of school 9 and school 15.

‘ Table 5.138
Tests of difference by use of post-ANOVA between school nine and school
sixteen ’
Mean of Mean of Mean SED Dys
school 9 school 16 difference - D
01
34.5 35.0 0.5 341 6.72
8.87

_ Table 5.138 indicated that mean achievement of school nine was 34.5 and that .~
-- of school ten was 35.0. There was observed difference of 0.5, which was lesser |
than expected value at both the levels. Thus, the mean difference was found to
be not significant and so the null hypothesis stating that there will be no |

significant difference in achievement of school 9 and school 16 was aéceﬁted.
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So it can be concluded that there was no significant difference in the mean

achievement of school 9 and school 16.

Table 5.139
Tests of difference by use of post-ANOVA between school nine and school
seventeen | | ‘ '
Mean of Mean of Mean SEp Dgs
school 9 school 17 difference D
( : o1
34.5 3391 | 059 - | 332 654
| 8.63

Table 5.139 indicated that mean achievement of school nine was 34.5 and that
of school seventeen was.34.45. There was observed difference of 0.59, which |
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school‘ 9 and school 17 was -
acéepte,d. | | |

~ So it can be concluded that there was no signiﬁcanf difference in the mean

achievement of school 9 and school 17.

Table 5.140
Tests of difference by use of post-ANOVA between school nine and school
eighteen '

Mean of Mean of* _ Mean SEp D s
school 9 school 18 difference D
01
34,5 30.38 1 412 3.62 7.13
~ - 941 - -

Table 5.140 indicated that mean achievement of school nine was 34.5 and that
of school eighteen was 30.38. There was observed difference of 4.12, which

was lesser than expected value at both the levels. Thus, the mean difference N
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was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 9 and school 18 was
accepted. |

So it can be concluded that there was no significant difference in the mean

achievement of school 9 and school 18.

Table 5.141 ,
Tests of difference by use of post-ANOVA between school nine and school
nineteen
Mean of Mean of Mean SEp Ds
school 9 school 19 difference D
. 01
345 40.83 6.33 3.97 7.82
10.32

Table 5.141 indicated that mean achievement of school nine was 34.5 and that
of school nineteen was 40.83. There was observed difference of 6.33, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 9 and school 19 was
accepted. |

So it can be concluded that there was no signiﬁcant difference in the mean

achievement of school 9 and school 19.

Table 5.142
Tests of difference by use of post-ANOVA between school nine and school
twenty |
- Meanof | Meanof Mean - "SED" SR R ~D.0'5
school 9 school 20 difference ' D
.01
345 40.0 55. 3.97 7.82
10.32
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Table 5.142 indicated that mean achievement of school nine was 34.5 and that
of school twenty was 40.0. There was observed difference of 5.5, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 9 and school 20 was
accepted. - | |

So it can be concluded that there was no significant difference in the mean

achievement of school 9 and school 20.

, Table 5.143

Tests of difference by use of post-ANOVA between school ten and school
eleven | .
Mean of Mean of Mean | SEp Dos

school 10 school 11 difference D

o1
3445 35.56 1.11 3.42 6.74
8.89

Table 5.143 indicated that mean achievement of scﬁool ten was 34.45 and that
of school eleven was 35.56. There was observed difference of 1.11, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 10 and school 11 was
accepted. |

So it can be concluded that there was no significant Qiﬁ'exjence in the mean
achievement of school 10 and school 11.

" Table 5.144 indicated that mean achievement of schiool ten was 34.45 and that
of school twelve was 38.88. There was- observed difference of 4.43, which was '
lesser than expected value at both the levels. Thus, the mean difference was

found to be not significant and so the null hypothesis stating that there will be
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no significant difference in achievement of school 10 and school 12 was

accepted.
Table 5.144 »

Tests of difference by use of post-ANOVA between school ten and school
twelve ‘

Mean of Mean of Mean SEp D s

school 10 ‘ school 12 difference - Dy,

. 3445 38.88 4.43 3.54 6.97

| 9.20

So it can be concluded that there was no sig'niﬁpant difference in the mean -

achievement of school 10 and school 12.

_ Table 5.145
Tests of ‘difference by use of post-ANOVA between school ten and school
thirteen ' |

Mean of Mean of Mean SEp Ds
school 10 school 13 difference D

: : ' ol

34.45 4125 68 3.15 6.20

o . 4 o 8.19

Table 5.145 indicated that mean achievement of school ten was 34.45 and that
of school thirteen was 41.25. There was obser\(ed difference of 6.8, which was
greater than expected value at 0.05 level. Thus, the mean difference was found -

to be significant and so the null hypothesis stating that there will be no

. . significant difference in achievement of school 10 and school 13 was rejected..... ... .

--So- it-can be concluded that there was -significant - difference-in- the -mean ;-

achievement of school 10 and school 13.
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Table 5.146

Tests of difference' by use of post-ANOVA between school ten and school

fourteen
Mean of ~ Mean of Mean SEp Dos
-school 10 school 14 difference A D
: . 01
34.45 30.94 3.51 2.98 5.87
' © 1.5

4 Table 5 .146 indicated that mean achievement of school ten was 34;45 and that
of school fourteen was 30.94, There was observed difference of 3.51, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 10 and sch;ool. 14 was
égcepted. | | -

So it can be concluded that there was. no significant difference m the mean

achievement of school 10 and school 14.

: Table 5.147
'fests of difference by use of post-ANOVA between school ten;and school
fifteen |

Mean of Mean of Mean SEp D os

- school 10 school 15 difference D
' ~ 01
3445 38.5 4.05 3.32 6.54
8.63

Table 5.147 indicated that mean achievement of school ten was 34.45 and that
_ of school fifteen was 38.5. There was observed difference of 4.05; which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that there will be
no significant difference in ,échievgment of school 10 and school 15 was

accepted.
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So it can be concluded that there was no significant difference in the mean

achievement of school 10 and school 15.

Table 5.148
Tests of difference by use of post~ANOVA between school ten and school
sixteen ' ‘
Mean of Mean of Mean - ~ SEp Ds
school 10 school 16 difference D
, 01
34.45 35.0 0.55 ‘ 332 6.54
8.63

- Table § .148 indicated that mean achievement of school ten was 34.45 and that
of school sixteen was 35.0. There-was observed difference of 0.55, which was
lesser than expected value at both the levels. Thus, the mean difference was
found to be not significant and so the null hypothesis stating that t;here will be
no significant differ'encev in achievement of school 10 and school 16 was
accepted. |

So it can be concluded that there was no significant difference in the mean

achievement of school 10 and school 16.

Table 5.149 .
Tests of difference by use of post-ANOVA between school ten and school.
seventeen '
Mean of Mean of Mean SEp Dys
school 10 school 17 difference D
01
- -34.45 3391 0.54 324 17 6.38
' C ' ’ - 8.42

Table 5.149 indicated that mean achievement of school ten was 34.45 and that
of school seventeen was 33.91. There was observed difference of 0.54, which

was lesser than expected value at both the levels. Thus, the mean difference
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was found to be not signiﬁcént and so the null hypothesis stating that there will
be no significant difference in achievement of school 10 and school 17 was
accépted. |

So it can be concluded that there was no ysigniﬁcant difference in the mean

achievement of school 10 and school 17.

‘ Table 5.150 ‘
Tests of difference by use of post-ANOVA between school ten and school
eighteen '

Mean of " Mean of Mean SEp D s
-school 10 school 18 difference Doy
© 3445 30.38 4.07 3.54 6.97
9.20

Table 5.150 indicated that mean achievement of school ten was 34.45 and that
‘of school eighteen was 30.38. There was observed difference of 4.07, which
~ was lesser than expected value at both the levels. Thus; the mean difference
was found to be not significant and so the null hypothesis‘stating that there will
be no significant difference in achievement of school 10 and school 18 was
accepted. | |

So it'can be concluded that there was no signiﬁczint difference in the mean

achievement of school 10 and school 18.

Table 5.151

Tests of difference by use of post-:ANOVA between school ten and school
nineteen -
[ Meanof Mean of Mean . | -~ SEg- | Dis
school 10 school 19 difference Dy,
34.45 40.83 6.38 3.89 - 7.66
| 10.11
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- Table 5.151 indicated that mean achievement of school ten was 34.45 and that
of school nineteen was 40.83. There was observed difference of 6.38, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 10 and school 19 was
accepted. |

~ So it can be concluded that there was no signiﬁcant difference in the mean

achievement of school 10 and school 19. |

Table 5.152
Tests of difference by use of post-ANOVA between school ten and school
twenty ‘

Mean of Mean of Mean SEp Dos
school 10 school 20 difference D
‘ . 01
34.45 - 40.00 5.55 3.89 7.66
’ 10.11

Table 5.152 indicated that mean achievement of school ten was 34.45 and that
of school twenty was 40.00. There was observed difference of 5.55, which was '
lesser than expected value at both the levels. Thus, the mean difference was |
found to be not significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 10 and school 20 was
accepted. ,

So it can be concluded that there was no significant difference in the mean

achievement of school 10 and school 20. |

.~ Table. 5.153 indicated that mean achievement of school eleven was 35.56 and
that of school twelve was 38.88. There was observed difference of 3.32, which
was' lesser than expected value at both the levels. Thus, the mean difference

was found to be not significant and so the null hypothesis stating that there will .
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be no significant difference in achievement of school 11 and school 12 was
accepted. |

Table 5.153
Tests of difference by use of post-ANOVA between school eleven and school
twelve

Meanof | = Mean of Mean SEp Ds
school 11 school 12 difference D

01

35.56 38.88 3.32 3.70 7.29

' 9.62

So it can be concluded that there was no significant difference in the mean -

achievement of school 11 and school 12.

Table 5.154 »
Tests of difference by use of post-ANOVA between school eleven and school
thirteen -

Mean of Mean of Mean SEp Dos
school 11 school 13 difference : D

. 01

135.56 41.25 569 3.35 “6.60

8.71

Table 5.154 indicated that mean achievement of school eleven was 35.56 and
that of school thirteen was 41.25. There was observed difference of 5.69, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis statilig that there will -
_be no significant difference in achievement. of school 11 and school 13 was -
aéceptedu - _
So it can be concluded that there was no significant difference in the mean

achievement of school 11 and school 13.
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Table 5.155
Tests of difference by use of post-ANOVA between school eleven and school
fom‘tepn _

Mean of Mean of Mean SEp Dgs
school 11 school 14 difference D

. Mo

35.56 30.94 4.62 - 3.17 624

| 8.24

Table 5.155 indicated that mean achievement of school éleven was 35.56 and
‘that of school foufteen was 30.94. There was observed difference of 4.62,
.which was lesser than expected value at both the levels. Thus, the mean
difference was found to be not'sigﬁiﬁcgmt and so the null hypothesis stating
that there will be no significant difference in achievement of school 11 and
school 14 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 11 and school 14.

Table 5.156 |
Tests of difference by use of post-ANOVA between school eleven and school
fifteen

Mean of Mean of Mean . SEp Dos
school 11 school 15 difference D
. 01
3556 38.5 294 3.50 6.89
9.1

‘Table 5.156 indicated that mean achievement of school eleven was 35.56 and
- that of-school fifteen was 38.5. There was observed difference of 3.32, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 11 and school 15 was -

accepted.
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So it can be concluded that there was no significant difference in the mean

achievement of school 11 and school 15.

. Table 5.157
Tests of difference by use of post-ANOVA between school eleven and school
sixteen
Mean of Mean of Mean SEp Dygs
school 11 school 16 difference D
_ , 01
35.56 35.0 0.56 3.50 6.89
9.1

Table 5.157 indicated that mean achievement of school eleven was 35.56 and |
that of school sixteen was 35.0. There was observed difference of 0.56, which -
was lesser than expected value at both the levels. Thus, fhe meah difference

was found to be not significant and so the null hypothesis stating that there will

be no significant difference in achievement of school 11 and school 16 was

accepted. _ -

So it can be concluded that there was no significant difference in the mean ‘

achievement of school 11 and school 16.

Table 5.158
Tests of difference by use of post-ANOVA between school eleven and school
seventeen
Mean of Mean of Mean SEp - Dygs
school 11 school 17 difference D
: .01
- 35.56 33.91 - 1.65 341 - 6.72
| 8.87

Table 5.158 indicated that mean achievement of school eleven was 35.56 and
that of school seventeen was 33.91. There was observed difference of 1.65,

which was lesser than expected value at both the levels. Thus, the mean
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difference was found to be not significant and so the null hypothesis-stating - ¢\,
LT R
that there will be no significant difference in achievement of sthool 11.and. -\
I S L Ty
school 17 was accepted. R R
N MmN ,;//
SR

So it can be concluded that there was no significant difference ih the mean

achievement of school 11 and school 17.

Table 5.159
Tests of difference by use of post-ANOVA between school eleven and school
eighteen
Mean of Mean of Mean SEp D ¢s
school 11 school 18 difference D
01
35.56 30.38 5.18 3.70 7.29
9.62

Table 5.159 indicated that mean achievement of school eleven was 35.56 and
that of school eighteen was 30.38. There was observed difference of 5.18,
which was lesser than expected value at both the levels. Thus, the mean
difference was found to be not significant and so the null hypothesis stating
that there will be no significant difference in achievement of school 11 and
school 18 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 11 and school 18.

Table 5.160
Tests of difference by use of post-ANOVA between school eleven and school
nineteen
Mean of Mean of Mean SEp D g5
school 11 school 19 difference D
o1
35.56 40.83 5.27 4.03 7.94
10.48
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Table 5.160 indicated that mean achie\v,rementv of school eleven was 35.56 and
that of school nineteen was 40.83. There was observed difference of 5.27,
which wés lesser than expected valﬁe at both the levels. Thus, the mean
difference was found to be not significant and so the null hypothesis stating
fhat there will be no significant difference in achievement of school 11 and
school 19 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 11 and school 19,

Table 5.161
Tests of difference by use of post-ANOVA between school eleven and school
twenty

Mean of ‘Mean of Mean SEp D s
school 11 school 20 difference D,
35.56 40.0 4.44 4703' 7.94

‘ 10.48

Table 5.161 indicated that mean achievement of school eleven was 35.56 and
that of school twenty was 40.0. There was observed difference of 4.44, which
was lesser than expected value at both the levels. Thus, the mean difference-
was found to be not significant and so the null hypothesis stating that there will |
be no significant diffefence in achievement of school 11 and school 20 was
accepted. ,

So it can be concluded that there was no significant diffe;énce m the mean

achievement of school 11 and school 20.

. Table 5.162 indicated that mean achievement of school twelve was 38.88 and
that of school thirteen was 41.25. There was observed difference of 2.37, which
was lesser than expected value at both the levels. Thus, the mean difference

was found to be not significant and so the null hypothesis stating that there will
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be no significant difference in achievement of school 12 and school 13 was
accepted.

Table 5.162
Tests of difference by use of post-ANOVA between school twelve and school
thirteen

~ Mean of Mean of Mean ~ SEp D s
~ school 12 school 13 difference S D
- Dp
38.88 4125 - 237 345 6.80
' | ‘ 8.97

So it can be concluded that there was no significant difference in the mean

achievement of school 12 and school 13.

_ - Table 5.163 o
Tests of difference by use of post~ANOVA between school twelve and school
fourteen ' |

Mean of Mean of Mean SEp : Dgs
school 12 school 14 difference ‘ ' Dy,
38.88 30.94 7.94 3.30 - 650
o ) ] 8.58

Table 5.163 indicated that mean achievement of school twelve was 38.88 and (j
"that of school fourteen was 30.94. There was observed difference of 7.94,
which was greater than expected value at 0.05level. Thus, the mean difference
was found to be signiﬁcémt and so the null hypothesis stating that there will be
_ no significant difference in achievement of school 12 and school 14 was -
rejected. - ' A

So it can be concluded that there was significant difference in the mean

achievement of school 12 and school 14.

203 Chapter 5



Table 5.164
Tests of difference by use of post-ANOVA between school twelve and school
fifteen |

Mean of Mean of - Mean SEp Dgs
school 12 school 15 difference , D
38.88 - 385 0.38 3.62 7.13
9.41

Table 5.164 indicated that méan achievement of school twelve was 38.88 and
that of school fifteen was 38.5. There was observed difference of 0.38, which
was lesser than expected value at both the levels. Thus, the mean difference
~ was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 12 and school 15 was
accepted.

So it can be concluded that there was no significant difference in the mean'

,achlevement of school 12 and school 15.

Table 5.165
Tests of difference by use of post-ANOVA between school twelve and school
sixteen
Mean of Mean of Mean SEp Dygs
school 12 school 16 difference D
v : _ 01
38.88 35.0 3.88 3.62 7.13
9.41

.- Table 5.165 indicated that mean aclﬁevement of school twelve was 38.88 and ... ..

that of school sixteen was 35.0. There was observed differénce,of 3.88, which
was lesser than expected value at both the levels. Thus, the mean difference
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 12 and school 16 was

accepted.
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So it can be concluded that there was no significant difference in the mean

achievement of school 12 and school 16.

| Table 5.166
Tests of difference by use of post-ANOVA between school twelve and school
seventeen '
Mean of Mean of Mean SEp Dys
school 12 school 17 difference : D
01
38.88 33.91 4.97 3.54 6.97
9.20

Table 5.166 indicated that mean achievement of school twelve Was 38.88 and
that of school seventeen was 33.91. There was observed differenice of 4.97,
which was lesser than expected value at both the levels. Thus the mean
‘ difference was found to be not significant and so the null hypothesis stating
that there will be no'significant difference in achievement of school 12 and
school 17 was accepted.

So it can be concluded that there -Waszno significant difference in the mean

achievement of school 12band school 17.

. Table 5.167
Tests of difference by use of post-ANOVA between school twelve and school |
eighteen

SEp

Mean of Mean of Mean Dos

school 12 school 18 . difference D
D

--38.88 30.38 85 - 3.82- 7.52 -

Table 5.167 indicated that mean achievement of school twelve was 38.88 and
that of school eighteen was 30.38. There was observed difference of 8.5, which -

was greater than expected value at 0.05 level. Thus, the mean difference was
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found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of school 12 and school 18 was rejected.
So it can be concluded that there was significant difference in the mean

achievement of school 12 and school 18.

A Table 5.168
Tests of difference by use of post-ANOVA between school twelve and school
nineteen
Mean of Mean of Mean  SEp | Dyos
school 12 school 19 | difference i D
, P Do
38.88 40.83 1.95 4.12  | 8.12
' 110.71

Table 5.168 indicated that mean achievement of school twelve was 38.88 and
that of school nineteen was 40.83. There w;cis observed diﬂ'ereﬁce of 1.95,
which was lesser than expected value at both the levels. Thus, i the mean -
difference was found to be not significant and so the null hypothes1s statmg'
that there will be no significant difference in achlevement of school 12 and
school 19 was accepted. ' i

So it can be concluded that there was no significant difference 1111 the mean

achievement of school 12 and school 19.

'Table 5.169
Tests of difference by use of post-ANOVA between school @welve and school
twenty

SEp

 Dygs

“Meéan of Mean of Mean
-school12 | school 20 difference LD
. : 01
38.88 40.0 1.12 4.12 8.12
- 10.71
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Table 5.169 indicated that mean achievement of school twelve was 38.88 and
- that of school twenty was 40.0. There was observed difference of 1.12, which
was lesser than expected value at both the levels. Thus, the mean difference
-was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 12 and school 20 was
accepted. l

So it can be concluded that there was no significant difference in the mean

‘achievement of school 12 and schobl 20.

Table 5.170
Tests of difference by use of post-ANOVA between school thirteen and school
fourteen ‘ '

Mean of Mean of Mean SEp  Dys

school 13 school 14 difference |’ ’ o D
o » " 01
4125 . 30.94 1031 | 290 . 571
‘ 7.54

* Table 5.170 indicated that mean achievement of school thirteen was 41.25 and
~ that of school fburteeh was 30.94. There was observed difference of 10.31,
which was greater than expected value at bofh the levels. 'fhué, the mean
difference was found to be significant and so the null hypotheéis stating that
there will be no significant difference in achievement of school 13- and school
14 was rejected. V _

So it can be conpluded that there was significant difference in fthe mean

achievement of school 13 and school 14.

. Table 5.171 indicated that mean achievement of school thirteen was 41.25 and
that of school fifteen was 38.58. There was observed difference of 2.75, which
was lesser than expected value at both the levels. Thus, the mean difference

was found to be not significant and so the null hypothesis stating that there will
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be no significant difference in achievement of school 13 and school 15 was

rejected. |
Table 5.171 o

Tests of difference by use of post-ANOVA between school thirteen and school

fifteen

Mean of Mean of Mean SEp Dos
school 13 school 15 - difference D

01

41.25 '38.58 2.75 3.24 . 6.38

8.42

So it can be concluded that there was no significant difference in the mean

achievement of school 13 and school 15.

| Table 5.172
Tests of difference by use of post-ANOVA between school thirteen and school
sixteen ' ‘ '
Mean of Mean of . Mean SEp Dys
school 13 school 16 difference D
01
41.25 35.0 6.25 3.24 - 6.38
8.42

Table 5.172 indicated that mean achievement of school thirteen was 41.25 and

that of school sixteen was 35.0. There was observed difference of 6.25, which‘

was lesser than expected value at both the levels. Thus, the mean difference

- was found to be not significant and so the null hypothesis stating that there will
--be no significant difference in achievement of school 13 and éschooll 16 was
- accepted. - - 4 :

So it can be concluded that there was no significant difference in the mean

achievement of school 13 and school 16.

208 " Chapter 5 -




Table 5.173
Tests of difference by use of post-ANOVA between school thirteen and school

seventeen
Mean of Mean of Mean SEp Dys
school 13 'school 17 difference D
: , 01
41.25 33.91 7.34 3.15 6.20
8.19

Table 5.173 indicated that mean achievement of school thirteen was 41.25. and
that of school seventeen was 33.91. There was observed difference of 7.34,
which was greater than expected value at 0.05 level. Thus, the mean difference
was found to be significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 13 and school 17 was
rejected. |

So it can be conclﬁded that there was significant difference in the mean

achievement of school 13 and school 17.

Table 5.174 ‘
Tests of difference by use of post-ANOVA between school thirteen and school
eighteen

Mean of Mean of ~ Mean - SEp D s
school 13 school 18 difference D

_ o1

41.25 30.38 10.87 | 345 6.80

' 8.97

Table 5.174 indicated that mean achievement of school thirteen was 41.25 -and :
-- that of school eighteen was 30.38. There was observed difference of 10.87,
which was greater than expected value at both the levels. Thus, the mean
difference was found to be significant and so the null hypothesis stating that
there will be no significant difference in achievement of school 13 and school

18 was rejected.
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So it can be concluded that there was significant difference in the mean

achievement of school 13 and school 18.

Table 5.175
Tests of difference by use of post-ANOVA between school thirteen and school
nineteen _
Mean of Mean of Mean SEp D o5
school 13 school 19 difference D
01
41.25 40.83 0.42 3.81 7.50
9.91

Table 5.175 indicated that mean achievement of school thirteen was 41.25 and
that of school nineteen was 40.83. There was observed difference of 0.42,
which was lesser than expected value at both the levels. Thus, the mean
~ difference was found to be not significant and so the null hypothesis stating
that there will be no signiﬁcaht difference in achievement of school 13 and
school 94 was accepted. |

So it can be concluded that there was no signiﬁcé.nt difference in the mean |

achievement of school 13 and school 19.

Table 5.176 _
Tests of difference by use of post~ANOVA between school thirteen and school
twenty

Meanof | Meanof Mean - SEp _ Dys
school 13 school 20 difference D
» . 01
- 4125 - 40.0 1.25 3.81 7.50 :

Table 5.176 indicated that mean achievement of school thirteen was 41.25 and
that of school twenty was 40.0. There was observed difference of 1.25, which

was lesser than expected value at both the levels. Thus, the mean difference
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was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievemenf of school 13 and ‘school 20 was
accepted. |

So it can be concluded that there was no significant difference in the mean

achievement of school 13 and school 20.

| Table 5.177
Tests of difference by use of post-ANOVA between school fourteen and school
fifteen | | o |

Mean of Mean - SEp D s

Mean of
school 14 school 15 difference D
" 01
3094 38.5 7.56 A 3.07 6.05
‘ 7.98

Table 5.177 indicated that mean achievement of school fourteen was 30.94 and -
that of school fifteen was 38.5. There was observed difference of 7.56, which N
was greater than expected value at 0.05 level. Thué, the mean difference was -
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement of échool 14 and school 15 was rejected.

So it can be concluded that there was signiﬁcanit difference in the mean

_ achievement of school 14 and school 15.

Table 5.178
Tests of difference by use of post-ANOVA between school fourteen and school
sixteen
" "Mean of Mean of Mean SEp " Dys
. school 14 school 16 | difference SO ERE S
Do
30.94 35.0 4.06 3.07 - 6.05
7.98
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Table 5.178 indicated that mean achievement of school fourteen was 30.94 and

that of school sixteen was 35.0. There was observed difference of 4.06, which -

was lesser than expected value at the both the levels. Thus, the mean difference

was found to be not significant and so the null hypothesis stating that there will
be ho signiﬁéant difference in achievement of school 14 and school 16 was

| accepted. ' _

So it can be concluded that there was no significant difference in the mean

achievement of school 14 and school 16.

" Table 5.179
Tests of difference by use of post-ANOVA between school fourteen and school
seventeen '
Mean of Mean of Mean SEp Dys
school 14 school 17 difference Doy
3094 3391 2.97 2.89 5.89
| | 177

~ Table 5 .179? indicated that mean achievement of school fourteen was 30.94 and
th‘at of school seventeen was 33.91. There was observed difference of 2.97,
which was lesser than expected value at both the levels. Thus, the mean
difference was found to be ﬁot significant and so the null hypothesis stating
that there will be no significant difference in achievement of school 14 and
séhool 17 was accepted. |
So it can be concluded that there was no_signiﬁcant diﬁ'erénce in the mean

achiever‘nenjt of school 14 and school 17.

T ”T?blé-S-’;lSO indicated that mean achievement of school fourteen was-30.94 and
that of -school eighteen was 30.38. There was observed difference of 0.56,
which was. lesser than expected value at both the levels. Thus, the mean -

difference was found to be not significant and so the null hypothesis stating
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that there will be nov significant difference in achievement of school 14 and
school 18 was accepted.

Table 5.180
Tests of difference by use of post-ANOVA between school fourteen and school

eighteen

Mean of Mean of Mean SEp Dos
school 14 school 18 difference D

01

30.94 30.38 0.56 3.30 6.50

8.58

So it can be concluded that there was no significant difference in the mean

- achievement of school 14 and school 18.

Table 5.181
Tests of difference by use of post~ANOVA between school fourteen and school
nineteen
Mean of Mean of Mean SEp Dy
school 14 school 19 difference D
. Do
30.94 40.83 9.89 3.68 7.25
9.57

Table 5.181 indicated that mean achievement of school fourteen was 30.94 and
that of school nineteen was 40.83. There was observed difference of 9.89,
which was greater than expected value at both the levels. Thus, the mean

difference was found to be significant and so the null hy'pothesis stating that

there will be no significant difference in achievement of school 14 and school ...

19 was rejected.
So it can be concluded that there was significant difference in the mean

achievement of school 14 and school 19.
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, Table 5.182 ,
Tests of difference by use of post-ANOVA between school fourteen and school
twenty

Mean of Mean of Mean SEp Dos

school 14 school 20 difference Dy
30,94 40.0 9.06 3.68 7.25
' ‘ 9.57

Table 5.182 indicated that mean achievement of school fourteen was 30.94 and

that of school twenty was 40.0. Thefe was observed difference of 9.06, which

was 4greater than expected value at 0.05 level. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no |
significant difference in achievement of school 14 and school 20 was rejectéd.

So it can be concluded that there was significant difference in the mean

achievement of school 14 and school 20.

Table 5.183

Tests of difference by use of post-ANOVA between school fifteen and school f: k
sixteen ' '
Mean of Mean of Mean SEp " Dys
school 15 school 16 difference D
01
385 35.0 35 341 6.72
8.87

‘Table 5.183 indicated that mean achievement of school fifteen was 38.5 and
. that of school sixteen was 35.0. There was observed difference of 3.5, which
- was’ lesser than expected value at both thé levels. Thus, the mean differencef
was found to be not significant and so the null hypothesis stating that there will
be no significant difference in achievement of school 15 and school 16 was

accepted.
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So it can be concluded that there was no significant difference in the mean .

achievement of school 15 and school 16.

Table 5.184
Tests of difference by use of post-ANOVA between school flﬂeen and school
seventeen '
Mean of Mean of Mean SEp D s
school 15 school 17 difference o . D
. ‘ o1
385 | 3391 4.59 3.32 6.54
- 8.63

Table 5.184 indicated that mean achievement of school fifteen was 38.5 and
that of school seventeen was 33.91. There was observed difference of 459,
which was lesser than expected value at both the levels. Thus, the mean
difference was .found to be not significant and so the null hypothesis stating
that there will be ‘no sigﬁiﬁcant difference inﬂachi~evement of school 15 and
scﬁool 17 waé accepted. '

Sb it can be concluded that there was no significant difference in the mean

achievement of school 15 and school 17.

Table 5.185
Tests of difference by use -of post~ANOVA between school fifteen and school
eighteen

Meanof Mean of Mean , SEp D,os.
school 15 school 18 difference D

' .01

38.5 30.38 812 3.62 7.13

T -.9.41

Table 5.185 indicated that mean achievement of school fifteen was 38.5 and
that of school eighteen was 30.38. There was observed difference of 8.12,

which was lesser than expected value at 0.05 level. Thus, the mean difference
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was found to be sighiﬁcant and so the null hypothesis stating that theré will be
* no significant difference in achievement of school 15 and sc;hool 18 was
rejected.

So it can be concluded that there was significant difference in the mean

achievement of school 15 and school 18.

Table 5.186 ,
Tests of difference by use of post-ANOVA between school fifieen and school
nineteen '
Mean of Mean of Mean SEp Dygs
school 15 - school 19 difference D
: 01
38.5 40.83 . 2.33 3.96 7.80
10.30

Table 5.186 indicated that mean achievement ‘of school fifteen was 38.5 and
that of school nineteen was 40.83. There was observed difference of 2.33,
which was lesser than expected value at both the levels. Thus, the mean
difference was found to be not significant and so the null hypothesis stating
that there will be no significant difference in achievement of school 15 and
school 19 was accepted.

So it can be concluded that‘there was no significant difference in the mean

achievement of school 15 and school 19.

‘ Table 5.187 _
Tests of difference by use of post-ANOVA between school fifteen and school
twenty '

g '"Meati'_of Mean of - _- "‘Mean - |  'SEp "D‘_os“"'
school 15 . school 20 difference D
01
38.5 40.0 1.5 3.96 7.80
10.30
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Table 5.187 indicated that mean achievement of school fifteen was 38.5 and
that of school twenty was 40.0. There was observed difference of 1.5, which
was lesser than expected value at both thé levels. Thus, the mean difference
was found to be not significant and so the null hypbthesis stating that there will -
be no significant difference in achievement of school 15 and school 20 was
accepted.

So it can be concluded that there was no signiﬁcant difference in the mean

» achievement of school 15 and school 20.

Table 5.188
Tests of difference by use of post-ANOVA between school sixteen and school
seventeen |
Mean of Mean of Mean SEp B Dgs
school 16 school 17 difference Dar
: 01
35.0 33.91 1.09 3.32 6.54
' 8.63

Table 5.188 indicated that mean achievement of school sixteen was 38.5 and
thaf-of school seventeen was 33.91. There was observed difference of 1.09,4
which was lesser than expected value at both the levels. Thus, the mean. -
difference was found to be not significant and so the null hypothesis stating
that there will be no significant diﬁ’erencc in achievement of school 16 and
school 17 was accepted..

So it can be concluded that there was no significant difference in the mean

achievement of school 16 and school 17.

‘Table 5.189 indicated that mean achievement of school sﬁdeen' was 385 and

that of school: eighteen was 30.38. There was observed difference of 4.62, .
which was lesser than expected value at both the levels. Thus, the mean

difference was found to be not significant and so the null hypothesis stating
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that there will be no significant difference in achievement of school 16 and

school 18 was acceptedf

Table 5.189
Tests of difference by use of post-ANOVA between school sixteen and school
eighteen ' '

Mean of Mean of Mean SEp D s

school 16 school 18 difference ‘ D.
) ) .01
35.0 30.38 462 362 7.13.
- 9.41

So it can be concluded that there was no significant difference in the mean

achievement of school 16 and school 18.

Table 5.190
- Tests of difference by use of post-ANOVA between school sixteen and school
nineteen ' ‘
., Meanof | Meanof Mean o SEp | D os
. school 16 school 19 difference ' D
01
35.0 40.83 . 5.83 3.96 7.80
| 10.30

Table 5.190 indicated that mean achievement of school sixteen was 38.5 and
that of school nineteen was 40.83. ‘There was observed difference of 5.83,
which was lesser thén expected value at both the levels. Thus, the mean
_difference was found to be not significant .and so the null hypothesis stating
that- there-will be no significant difference in achievement of school 16-and -
school 19 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 16 and school 19.
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, Table 5.191 A
Tests of difference by use of post-ANOVA between school sixteen and school
twenty

Mean of Meanof |  Mean SEp ‘Dys
school 16 school 20 difference D
: 01

- 35.0 40.0 5.0 3.96 1 780

10.30

Table 5.191 indicated that mean achievement of school sixteen was 38.5 and
‘that of school twenty was 40.0. There was observed difference of :5.0, which
was lesser than expected value at both the levels.. Thus, the mean difference -
was found to be not significant and so tﬁe null hypothesis stating that there will
be no significant difference in achievemeht of schéql 16 and school 20 was
acéepted. | |

So it ca_h be concluded that there was no significant differenée in the mean )

achieveﬁlent of school 16 and school 20.

: : Table 5.192
‘Tests of difference by use of post-ANOVA: betwee;i school seventeen and
* school eighteen ' o
Mean of Mean of Mean SEp Dos
school 17 school 18 difference D
o1

33.91 30.38 3.53 354 - 697

| 19.20

_ Table 5.192 indicated that mean achievement of school seventeen was 33.91
. -and that of school eighteen was 30.38. There was observed difference of 3.53,
which was lesser than expected value at both the levels. Thus, the mean
difference was found to be not significant and so the null hypothesis stating
A tilat'there will be no significant difference in achievement of school 17 and

school 18 was accepted.
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So it can be concluded that there was no significant difference in the mean

achievement of school 17 and school 18.

Table 5.193
Tests of difference by use of post-ANOVA between school seventeen and
school nineteen ‘
- Mean of Mean of Mean SEp Dgs
school 17 school 19 | difference D
, - | 01
33.91 40.83 6.92 - 3.86 7.60
10.04

Table 5.193 indicated that mean achievement of school séventeen was 33.91
and that of school nineteen was 40.83. There was observed difference of 6.92,
which. was lesser than expected value at both the levels. Thus, the mean |
~ difference was found to be not signiﬁdant and so the null hypothesis stating
that there will -bé_ no significant difference in achievement of school 17 and
school 19 was accepted. A

So it can be concluded that there was no significant difference in the mean -

achievement of school 17 and school 19. .

Table 5.194
Tests of difference by use of post-ANOVA between school seventeen and
school twenty

Mean of Mean of _Mean SEp Dos
school 17 school 20. difference D
01
33.91 - 40.0 6.09 ' 3.86 - 7.60°
‘ ' 10.04 -

Table 5.194 indicated that mean achievement of school seventeen was 33.91
and that of school twenty was 40.0. There was observed difference of 6.09,

which was lesser than expected value at both the levels. Thus, the mean
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difference was found to be not significant and so the null hypothesis stating
that there will be no significant difference in achievement of school 17 and
school 20 was accepted.

So it can be concluded that there was no significant difference in the mean

achievement of school 17 and school 20.

_ Table 5.195
Tests of difference by use of post-ANOVA between school eighteen and school
nineteen , ' |
Mean of Mean of Mean SEp Dgs
school 18 school 19 difference D
o1
30.38 40.83 10.45 4.14 8.16
‘ -10.76

Table 5.195 indicated that mean achievement of 'SCh'ool eighteen was 30.38 and
that of school nineteen was 30.38. There was observed diﬁ'erehce of 10.45,
which was greater than expected value at 0.05 level. Thus, the mean difference
was found to be significant and so the null hypothesis stating that there will be
no significant difference in achievement of school 18 and school 19 was
rejected.

So it can be concluded that there was 'signiﬁcant difference in the mean

achievement of school 18 and school 19.

Table 5.196

Tests of difference by use of post-ANOVA between school eighteen and school
- twenty- ‘ :
" Mean of Mean of | * Mean - SEp - " |*  Das
school 18 school 20 difference D
‘ o1
30.38 40.0 9.62 4.14 - 8.16
10.76
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Table 5.196 indicated that mean achievement of school eighteen was 30.38 and
that of school twenty was 40.0. There was observed difference of 9.62, which
was greater than expected value at 0.05 level. Thus, the mean difference was
found to be significant and so the null hypothesis stating that there will be no
significant difference in achievement‘of school 18 and school 20 was rejected.

'So-it can be concluded that there was significant difference in the mean

achievement of school 18 and school 20.

Table 5.197
Tests of difference by use of post-ANOVA between school nineteen and school
twenty

Mean of Mean of Mean - SEp Dos
school 19 school 20 difference D
01
40.83 40.0 0.83 4.45 8.77
| 11.57

Table 5.197 indicated that mean achievement of school nineteen was 40.83 and
that of school twenty was 40.0. There was observed difference of 0.83, which -
was lesser than expected value at both levels. Thus, the mean difference was
found to be not signiﬁcant‘and so the null hypethesis stating that there will be
‘no significant difference in achievément of school 19 and school 20 was
rejected. »

So it can be concluded that there was 1o significant difference in the mean

achievement of school 19 and school 20.

Although the fecilities provided to the Vasahati schools were more or less same™ *
_ but still within some schools some differences were found. Especially, with
school 3 the difference observed was maximum, may be because teachers in
this school were more committed, dedicated and enthusiastic. They might have

prepered teaching- learning materials and may be using them while teaching.
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53 COMPETENCY WISE ANALYSIS

Table 5.198
Overall item-wise and éompetency wise analysis of Class Il and Class IV
students (N=200)
Competency | Item no. Number of {% of correct | Order of
no. students with | response difficulty
correct
response
7.3.1 2 130 65 9
7.3.1 3 119 59.5 5
7.3.1 4 118 58 4
7.3.1 5 123 61.5 7
7.3.1 6 128 64 8
10.3.2 7 152 72 15
10.3.2 18 122 61 6
10.3.2 9 158 79 22
10.3.4 10 150 75 19
10.3.5 11 143 71.5 14
10.3.5 12 110 55 2
10.3.3 13 142 71 13 “
10.3.3 14 145 72.5 16
10.3.3 15 128 64 8
10.3.3 16 155 77.5 21
10.3.6 17 143 71.5 14
10.3.3 18 175 1875 26
10.4.5 19 180 90 28
10.4.5 20 162 81 24
10.4.7 21 132 66 10
10.4.8 22 148 74 18
10.4.7 23 133 66.5 11
10.4.7 24 115 57.5 3
10.4.7 25 183 91.5 30
10.4.11 26 145 72.5 16
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10.4.11 27 | 188 94 132
10.4.12 28 141 70.5 112
10.4.13 29 182 91 29
74.1 30 148 74 18
74.1 31 142 71 13
7.4.1 32 158 79 22
74.1 33 166 183 25
743 34 146 73 17
742 35 152 76 20
744 36 159 79.5 23
342 37 176 88 27
3.4.1 38 192 96 35
34.1 39 189 94.5 33
3.4.1 40 182 91 |29
3.4.1 41 194 97 |36
34.1 4 1190 95 34
341 43 - 148 74 18
1341 44 185 92.5 |31
3.4.1 45 194 |97 36
34.1 46 180 90 28
3.4.1 47 143 53 1
3.4.1 48 1192 96 35
3.4.1 49 194 97 36
34.1 50 192 96 35
8.3.1 51 189 . |945 33
8.3.2 52 192 96 35
10.3.4 53 190 95 34

(most difficult competency was indicated by the number l; second most
difficult by number 2 and so on)
Table 5.198 indicated that item no. 47 that was ‘where does the weaving of

raw cotton takes place?’(3.4.1) was mastered by only 53 per cent of the
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. students which shows that the item was found to be most difficult. Further,

item no. 41 that was ‘Name the Iniplement through which water is taken out
from the well’ (3.4.1), 45 ‘who ploughs the Land’ (3.4.1) and item 49 that was
Identify the tool (3.4.1) was mastered by 97 per cent of the students which

shows that these items were found to be least difficult. Average; 77 percent of

students have mastered the overall competencies.

Table 5.199

Ttem-wise and competency wise analysis of Class III students (N=115)

‘Competency

- Item no. Number of | % of correct Order of
no. students with response difficulty
coxjrect -
response
73.1 2 60 52.17 7
731 3 64 55.65 10
7.3.1 4 43 37.39 2
7.3.1 5 51 44.35 4
731 6 52 4522 5
10.3.2 7 48 41.74 3
10.3.2 8 51 44.35 14
10.3.2 9 86 46.96 6
10.3.4 10 88 76.52 22
10.3.5 11 68 15913 1"
10.3.5 12 41 35.65 1
10.3.3 13 62 53.91 9
10.3.3 14 74 64.35 14
10.3.3 15 75 65.22 15
1033 16 76 66.09 16
10.3.6 17 69 60.0 12
10.3.3 18 105 91.30 27
10.4.5 19 109 94.78 31
10.4.5 20 110 95.65 32
10.4.7 21 61 © | 53.04 8
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10.4.8 22 72 62.61 13
10.4.7 23 80 69.56 17
10.4.7 24 62 53.91 19
10.4.7 25 103 89.56 26
10.4.11 26 82 71.30 18
10.4.11 27 110 95.65 32
10.4.12 28 83 72.17 19
10.4.13 29 106 92.17 28
7.4.1 30 92 80.0 24
74.1 31 90 78.26 23
74.1 32 102 88.69 25
74.1 33 108 93.91 30
7.4.3 34 84 73.04 20
74.2 35 85 73.91 21
74.4 36 72 62.61 13
3.4.1 37 96 93.48 29
3.4.1 38 108 93.91 30
3.4.1 39 109 94.78 31
3.4.1 40 111 96.52 33
34.1 41 110 95.65 32
3.4.1 42 112 97.39 34
3.4.1 43 108 93.91 30
341 44 114 99.13 35
3.4.1 45 110 95.65 32
3.4.1 46 112 97.39 34
3.4.1 47 102 88.69 25
3.4.1 48 112 197.39 34

13.4.1 49 112 197.39 34
3.4.1 50 110 95.65 32
8.3.1 51 111 96.52 33
8.3.2 52 109 94.78 31
10.3.4 53 110 95.65 32
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(most difficult competency was indicated by the number 1, second most
difficult by number 2 and so on)

Table 5.199 indicated that 99.13 percent of the students found the competency
3.4.1that was item number 44 ‘who make the plough’ least difficult whereas
only 35.65 percent of the students responded the item 12 ‘where does large
amount of river water flows?’ cdrrectly. This indicated that competency 10.3.5

was found to be most difficult.

- Table 5.200
' Ttem-wise and competency wise analysis of Class IV students (N=85)
Competency. Item no. Number of | % of correct Order of
~ no. students with response difficulty
correct ‘
, response
731 2 70 8235 |13
7.3.1 3 55 ‘ 64.70 |5
7.3.1 4 75 - | 88.23 118
7.3.1 5 72 |84.70 15
73.1 6 76 8941 . |20
10.3.2 7 73 85.88 16
10.3.2 8 71 83.53 14
10.3.2 9 172 84.70 15
10.3.4 10 62 | 72.94 8
10.3.5 11 75 88.23 19
10.3.5 12 69 81.18 12
- 11033 13 80 94.12- 24
-110.3.3 14 71 83.53 |14
10.3.3 15 53 62.35 4
-110.3.3 16 79 92.94 23
10.3.6 17 74 87.06 17
1033 18 70 82.35 13
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34.1

10.4.5 19 71 83.53 - 14
10.4.5 20 70 82.35 13
10.4.7 21 71 83.53 14
10.4.8 22 76 89.41 20
10.4.7 23 53 62.35 4
10.4.7 24 53 62.35 4
10.4.7 25 80 94.12 24
10.4.11 26 63 7412 9
10.4.11 27 78 91.76 22
10.4.12 28 58 68.23 7
10.4.13 29 76 89.41 20
74.1 30 56 65.88 6
7.4.1 31 52 61.18 3
74.1 32 56 65.88 6
1741 33 68 80 11
7.4.3 34 62 72.94 8
7.4.2 35 67 78.82 10
7.4.4 36 - 77 90.59 21
3.4.1 37 80 94.12 24
3.4.1 38 84 98.82 27
3.4.1 39 80 94.12 24
3.4.1 40 71 83.53 14
3.4.1 | 41 84 98.82 27
3.4.1 42 78 91.76 22
3.4.1 43 40 . 47.06 1
3.4.1 44 71 83.53 14
3.4.1 45 | 84 98.82 27
3.4.1 46 68 800 - |11
3.4.1 47 41 48.23 2
3.4.1 48 80 94.12 24
3.4.1 49 82 96.47 25
50 82 96.47 25
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8.3.1 51 78 91.76 22
83.2 52 83 97.65 26
10.3.4 53 80 94.12 24
(most difficult competency was indicated by the number' 1, second most

diﬂ'icult by number 2 and so on) ,

Table 5.200 indicated that 98.82 percent of the students found the item no. 38
‘which part of the Iron Rod is the part of which tooi?’ (3.4.1), 41 Name the
 Implement with which the water is taken ot from the well’(3.4.1) and 45 ‘who
ploughs the land?’(3.4.1) least difficult whereas, only 47.06 percent of the -

students responded the item 43 ‘who prepares cotton?’ correctly. This indicated

that competency 3.4.1 was found to be most difficult.

54
1

ANALYSIS AND INTERPRETATION OF REACTION SCALE
Out of twenty-five teachers seventy-six percent (19) teachers strongly
agreed that they were informed about the different approaches that can

. be applied in multl-grade teaching and- rest twenty-four 6) percent ;

teachers agreed to the item. %

i
Ninety-two percent (23) teachers strongly agreed that they understood
the mcaﬁing of multigrade teaching and only eight perc':eht (2) teachers
somewhat ggreed to the same.
Ninety-six p;:c;t (24) teachers strongly agreed that they understood the
need for multigrade teaching whereas only four- percent (1) teacher
somewhat agreed to the item. , -
Out of twenty-five teachers majority that was mne-two percent (23)

strongly agreed that they were clear about thev;ged for appropriate

-environment and atmosphere in multigrade teaching and only eight

percent (2) teachers somewhat agreed.
Majority, eighfy-eight percent (22) teachers strongly agreed that they
were clear .about the different skills required in multigrade teaching and

only twelve percent' (3) teachers somewhat agreed to the item.
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6. 100 percent of the teachers somewhat agreed that they understood the

i

student in the multigrade teaching, _

7. 100 percent of the teachers strongly agreed that they were informed
about how to teach about environment in multigrade teaching,

8. . Majority, ninety-two percent (23) teachers strongly agree that they were
informed about grouping techniques in multigrade teaching and only
eight percent (2) somewhat agreed to the same.

9.  Eighty-four percent (16) teachers strongly agree that they wére satisfied

~ with the model lesson plan given by the resource person and only
sixteen percent (4) teachers somewhat agreed ,

10. 100 percent of the teachers strongly agreed that they were agreed with
the answer given by the resource person. [7

11.  Majority eighty-four person (21) teachers strongiy agreed that the timing
of the training was appropriate whereas twelve percent: (3) teaches

disagreed with the same.

5.4.1 Analysis And Interpretation Of The Data Obtained Through-
- Reaction Scale For The Feedback Of The Wofkshop

To plari the sﬁategy for multi-grade teaching in schjoolé_, a workshop was
organized on 6 and 7™ October, 2003, at Training (D.LE.T.), Baroda. Twenty-
five trainees ‘of Dabhoi taluka were invited for two days workshop. These
twenty-five participants were teaching to class Il and IV in multigrade classes.
At the end of workshop, reaction scale was administered to parficipants in
order to study their reaction about the workshop. Participant responded on 3-
point scale for each statement. Responses were analysed by applymg chi-

square test Same has been presented in lines to follow:

Table 5.201 indicate that observed value of chi-square (x®) was found to be
22.05 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.-

Hence, here was the difference in the opinion on the given statement. Thus, it
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can be concluded that participants strongly agreed that they acquired

- information about various strategies for multigrade teaching.

Table 5.201
Information about various strategies about Multi-grade teaching
Strongly Somewhat agree | Disagree ¥* — value
agree
fo 19 6 0
£, 8.33 8.33 8.33 |
(£,-£) 10.67 1233 -8.33 22.65
(£,-£) 111.85 5.43 69.39
(f-f)fe | 13.67 0.65 8.33
¥ value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2
Table 5.202
Meaning of multi-grade teaching
Strongly Somewhat agree | Disagree x* — value
agree :
fo 23 2 0
f, 8.33 18.33 8.33
(f,-f) 14.67 -6.33 -8.33 38.98
(£ - |21521 40.07 69.39
(F-£)/fe |25.84 4.81 | 8.33

+* value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2

Table 5.202 indicates that observed value of chi-square (xz)'Was found to be
58.98 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the opinion on the given statement. Thus, it can be
concluded that teachers strongly agreed that they could understand meaning of

multi-grade.
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~ Table 5.203
Importance of mﬂlti-grade teaching

Strongly Somewhat agree | Disagree x* - value
agree
fy 24 01 0
f, 8.33 8.33 8.33
(££.) 15.67 |-7.33 -8.33 4426
(£,-£.)? 245.55 53.73 . 69.39
(,-f) e | 29.48 6.45 8.33

+? value at 0.05 level is 5.99 and at 0.01 level is 9.21,df =2

Table 5.203 indicates that observed value of chi-square (x?) was found to be
44.26 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.

So, there was a difference in the reaction of the teachers for the given

statement. Thus, it can be concluded that teachers strongly agreed that they

understood the importance of multi-grade teaching.

Table 5.204

Information about various strategies in multi-grade teaching
Strongly Somewhat agree | Disagree v — value
agree ' :
fo 19 6 0
f, 8.33 8.33 8.33
(f-f) 10.67 -2.33 -8.33 122.65
(-£7 | 113.85 5.43 69.39
() e | 13.67 10.65 8.33

2 value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2
Table 5.204 indicates that observed value of chi-square (x?) was found to be
22.65 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.

So, there was a difference in the opinion on the given statement. Thus, it can be
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concluded that teachers strongly agreed that they acquired information about

the various strategies for multi-grade teaching,

Table 5.205
Appropriate Atmosphere in multi-grade teaching
Strongly Somewhqt agree | Disagree ‘xz —value .
agree
fo 23 2 0
f, 8.33 1833 8.33
(£,-f) 14.67 -6.33 -8.33 38.98
(£,-F.) 215.21 40.07 69.39
() e | 25.84 4.81 8.33

v value at 0.05 level is 5.9 and at 0.01 level is 9.21 df =2
Table 5.205 indicates that observed. value of chi-square (%) was féﬁnd to be -
38.98 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the reactién of the teachers for the given
statement. Thus, it can be concluded that teachers strongly agreed that they

were clear about the need for appropriate atmosphere in multi-grade teaching.

Table 5.206
Essential Skills in multi-grade teaching

Strongly Somewhat agree | Disagree | % — value

agree
fo 22 3 0
f, 8.33 8.33 8.33 |

| (fofe) 13.67 5.33 -8.33 34.15

(£,-£)° 186.69 28.41 69.39
(F-f)/fe | 22.41 3.41 8.33

** value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2
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Table 5.206 indicates that observed value of chi-square (%) was found to be
34.15 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the reaction of the teachers for the given
statement. Thus, it can be concluded that teachers strongly agreed to the
statement that they understood the importance essential skills in multi-grade
teaching.

Table 5.207

Identifying the students in multi-grade teaching
Strongly Somewhat agree | Disagree v* —value
agree :
fo 25 0 0
f. 8.33 8.33 8.33
(fo-fo) 16.67 -8.33 -8.33 50.02
L)Y 27789 69.39 69.39
(f-f)/fe |33.36 8.33 8.33

v value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2 |

Table 5.207 indicates that observed value of chi-square (x) was found to be
50.02 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the reaction of the teachers for the given

statement, Thus, it can be concluded that fce'achers strongly agreed that they

understood the need for identifying the students in multi-grade teaching.

Table 5.208
Teaching Environment in multi-grade

Strongly Somewhat agree | Disagree | %?— value

agree . :
fo 25 1o 0
f, 8.33 1833 8.33
(f,-f) 15.67 -7.33 -8.33 44.26
(£ £.)? 245.55 5373 69.39 '
(f-f)fe | 29.48 6.45 8.33

% value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2
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Table 5.208 indicates that observed value of chi-square (x%) was found to be
44.26 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the reaction of the teachers for the givenl
statement. Thus, it can be concluded that teacheré strongly agreed to the

statement that they were informed about the teaching environment in mulﬁ-‘

grade.
| Table 5.209
Grouping Techniques in multi-grade teaching
Strongly Somewhat agree | Disagree 1* — value
agree _
fo 23 2 0
f, 8.33 8.33 8.33
(fo-fe) 14.67 -6.33 -8.33 38.98
(5 |21521 40.07 63.39
(f-f)/fe |25.84 481 8.33

¥* value at 0.05 Jevel is 5.99 and at 0.01 level is 9.21 df =2

Table 5.209 indicates that observed value of ‘chi-square () was found to be .
38.98 and expected valﬁe was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the reaction of the teachers for the given
statement. Thus, it can be concluded that teachers strongly agreed that they -

were informed about different grouping techniques.

Table 5.210
Mddel Lesson Plan on Environment of Class III and Class IV |
Strongly Somewhat agree | Disagree 2 — value

1 agree
1 fo 21 4 0
£, 8.33 833 8.33

(L) 12.67 4.33 8.33 29.85

() 160.53 18.75 69.39

€-£)%fe | 19.27 2.25 8.33

x? value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2
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Table 5.210 indicates that observed value of chi-square (x°) was found to be
- 29. 85 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the reaction of the teachers for the given
statement. Thus, it can be concluded that teachers strongly agreed that they

were satisfied with the model lesson plan given by the Resource Person.

Table 5.211

 Satisfaction with the answer glven by the Resource Person

A TStrongly Somewhat agree Dlsagree .; v--value
.agree : . '
fy 25 0 0
f, 8.33 8.33 833 |
(£ 16.67 -8.33 -8.33 50.02
(E-£) . |277.89 69.39 169.39
, (f—f)/fe 13336 1833 '8.33

f r? value at 0. 05 level is 5.99 and at 0. 01 level is. 9 21 df=2

: Table 5. 211 mdlcates that observed value of chl-square "(x %) was found to be ‘
50.02 and expected value was 5.99 and 9.2] at 0 05 and 0 01 level respectively. |
So,. there was a. difference in the reaction of the teachers for the glvenf ,’
statement. Thus, it can 'be concluded that teachers strohgly agreed that they?

wee satisfied with the answer given by the Resohrce Person.

Table 5.212

Timing of the Training Program
‘| Strongly | Somewhat agree | Disagree v —value
agree
f, 21 1 13
f, 833 833 " ]833
(f,-f) 12.67 -7.33 -5.33 29.13
(£-£)? 160.53 53.73 28.41
(f-f)Hfe | 19.27 6.45 3.41

%2 value at 0.05 level is 5.99 and at 0.01 level is 9.21 df =2
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Table 5.212 indicates that observed value of chi-square (x*) was found to be
29.13 and expected value was 5.99 and 9.21 at 0.05 and 0.01 level respectively.
So, there was a difference in the reaction of the teachers for the given
statement. Thus, it can be concluded that teachers strongly agreed that the

timing of the training program was appropriate.

Last statement in the reaction scale on over all view regarding two days A‘
workshop was content analyse. |

Overall 100 percent of the participants were "satisﬁed with the two days

workshop and opined that more sﬁch trairﬁngs which were practical and related

to actual situation should be organized frequently. Further, they suggested that

the training should be kept at the beginning of the academic session and for

more days. Also, informed that they may face the problem with evaluation with |
thlskmd of strategy of compiling the competence of tWo classes as the exams

wefe taken by the Jilla Punchayat where they follow the syllabds sequentially.

Thue, here the participants suggested to decentraiized the evaluaﬁoﬁ system. So

tha::t, fhey can maximally make use of the developed strategy;

5.4.2 Opinion of Teachers regarding effectiveness of the developed
strategy - | R
The opinion of teachers were collected regarding the effectiveness of the
developed strategy, quality of a strategy/intervention programmes and change |
in behaviour of students on the whole the strategy was found to be effective in
terms of the achievement of students and improvement in the quality of |
interaction with the teacher. It has helped the learner in self learning and has
~also developed more interest and curiosity in students. i
" Regarding the quality of strategy, the teachers expressed satisfaction the’
comprehensxveness in covering the content matter. Further, the combination of
different methods TLM and techmques used for clarifying important concepts
of the subject was also liked by them. Finally, all this helped to improve -

academic achievement of the students.
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Regarding the change in students classroom behaviour, the teacher admitted
that she could see significant change in students’ behaviour with regard to their
involvement in the classroom instructional process as they became more active
and more interactive. Thus, the strategy has not only helped students but even
teachers opinion has become more positive.

Teachers found the strategy feasible. Yes, it was time consuming, as it requires
pre-planning but finally it reduces the burden of handling multigrade situation
effectively. |
Teachers, liked the strategy of merging the competencies. Futﬂler, opined that
the me'r'ging of competencies helped in handling the two classes :together
without wasting the time of the students of either of the grades. |
Teacher’s no more look multigrade as a problem but look more positive.
Towards this type of schools. Further, they opmed that this strategy helped in
managmg the time. More time was utilized for productxve work.

Overall, the strategy was found to be very mterestmg and effective as it was
reiated to multigrade situation.

f Tlus strategy not only developed curiosity and interest in students but has also
deve_loped interest in teacher / them in teaching and making the maximum
utilizatfon of time prm o |

'“Fufther, they opined that merging of competencies saves the timel of both the -
grades. |

5.4.3 Data analysis and intei'pretation of classroom observation after the
workshop | |

Purpose : To study the effectiveness of the developed strategy.

The following was the summary of the anecdotal record based on the classroom
observation. The observation recorded were present in the descriptive form as
follows : |

Teaching — learning process in almost all the twenty schools started with
recapitualisation. Most of the times the questions were related to content learn

on the previous day. The teachers were concern with introducing meaning and

pu———

238 Chapter 5



relevance to the questions and allowed students to contribute to the lesson. The
students become alert to the teachers question and the content was discussed by
using the illustrations relevant to the students experiences. Also, it was
observed that questioning mode was less reliant on reasoning. While teaching
about the “Air” — following interaction took place.
Teacher : All of you standup and go out of class and bring air.
Students : Stbod up, teacher where we will‘ get air,
Teacher : Out side in the ground. '
Students : Silence '
Teacher : Go and search air '
Student : Air is not there (from the back the class)
Teacher : (called the student in froni) how ?
Student : Air is not seen. ‘ .
- Teacher : Listen everybody, what Krishna is saying. he can’t the air. Do you
agree with him. - —
Students : Yes, (Chores)
Teacher : Goodjais;;greed with Krishna but air is there. ‘
Students : (one of the student sitting on the right side corner classed his palm)
teacher goes near the Vishal)
Teacher : What you are doing with your hand ? Why you have closed your
palm ? _ '
Student : Air is there.
Teacher : Show me.
Student : (Opens the palms) Air is vanished.
Teachef : Very good. So one of the characteristic of air is that we cannot see
air. But can we feel the air ? |
Students : Silence ‘
Teacher : Come on lets perform one activity.
(Students giggles) |
Teac_her : (Ask Nina) close the door and windows of the room.
(Teacher switch pﬁ‘ the fan)
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 After the five minutes)
Teacher opens the door — windows and switch on the fan.
Students : Hash....... (chores)
Teacher : What happened ?
Students : Suffocation.
Teacher : Now, you all are feeling.
Students : Good and airy
Teacher : So, we can’t see air but we can feel it.
Students : Hum..... (nodding their heads)

In this process, the students were encouraged to raise the question or make
comment. This led to more involvement of the students in the classroom
transaction. Further, teacher seemed to be comfortable and competent in
handling the interactive pattern of teaching. The classroom teaching was
interesting, relaxed, logical and students appear active, enthusiastic and

attentive. Thus, reinforcing the teachers’ sense of satisfaction.

Thus the teaching — learning process in fl}flzost of the classroom were learner
centered and teachers’ and students were more interactive. Etudents were
encouraged to respond to the questions either by probing or by giving clues.
They were appreciated for their efforts. This led the students to be free and
curious in posing questions in the classroom and also influenced students’

participation and learning the competency.
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55 DISCUSSION ‘

In this section investigator has discussed the findings of the study supported by
the previous research studies and other official documents. ‘

On the basis of questionnairé and pre-workshop observation investigator
observed that teachers perceived many problems in their teaching environmént
right from lack of classroom, lack of furniture, electricity, toilet facility, safe
drinking water facility, instructional material, lack of téaching aids, no proper
training due to which multi-grade teaching is pursued as a problem supported -
by Jhanghirasingh (1995), Muthayan (2000). | ‘
Teéclﬁng was more teacher’s centered with ncgligible interaction with students,
lot of rote learning, lack of activity based materials and methods in
5 environrhent which leads to lack of curiosity, enthusiasm and interest among
teachers and students in téaching learning process. Also, discussed by Mali
(1984) Tomar (1998). It 'was further found that there was a lack of common
_txme-table supervision, which was conducted one’s or twice in a year, lack of
. emphasis on environment, -teachers were not aware of suitable teachmg :
methods and strategies. Similar ﬁnding was cited By Lalitha and Sh'aiiﬂa (1977), |
Mah (1984), Miller (1991) and Tomar (1998).

" Investigator believes that time-table and teaching plans should be flexible and
proper weightage should be given to the students pace of learning, Time-
management in multigrade was second important factor after the curriculum ,
and text-books which was also supported by Bharadwaj (2000). ,
Overall majonty of the students (68 %) of the students falls between the score

o —’:,w-—-w R

__..ﬁ:c“"

_range of 30 — 39 and only (5%) of the studenf‘Wére Scoring between 10— 19. It |
shows that. strategy was effective. Moreover, chi-square value was also found |
to be significant with respect to all the items in reaction scale. As feachers |
~ perceived ‘that strategy was program related to real classroom situation ‘and
further opined that there should be more such related training. Activities in :
environment were not to be limited only within the classroom but should be
extended beyond the four walls of classroom involving various activities like N

songs, drama, role play, game, story telling, field visits etc. which méke an
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environment subject more lively and interesting. As activities have a definite
place in the environment curriculum, environment subject needs to be taught in
‘such a manner so that the students perceived it as a dynamic activity rather than
as a static body of knowledge to be memorized and reproduced.
The test which was administered on students after the implementation of the
strategy indicates the overall effectiveness of su'etegy as the whole intervention
program helps the students for their all round development. This was because
the strategy had raised the scope of creativity, mdependency, more interaction
between teacher and student, act1v1ty oriented teachmg, use of different
methods and media, combmg the competencies, all these leads to active
participation and involvement of students in teachin'g Ie_amiﬁg process. Further;
as far as competencies were concerned students were able to master most of the
competencies with respect to selected units which " were mcluded in . the
development of the strategy Thus, mterventxon whenever taken up have shown'
- to improve the acmevement of students Thls was proved by many researehes
Govinda and Verghees (1991), Gupta and Gupta (1992) Das (1996), Tomar
(1998) and Mehta (1999)
Aﬁer the workshop the teachers opmed that developed strategy on environment
was found to be effectlve and mterestmg as teachers speclﬁcally expressed the
| view that multlgrade teachmg was an acceptable teaching for teaching in
difficult circumstances. That they ,have gain greater confidence in their ability
to handle a mulﬁgx:éded class and ithat’ they have ledrned ﬁmdamenltal principle .
of teéching. One of the important aspect was devices of motivating the children
and keeping Vthem engaged in leaming.activities. Some teaehe'rs, however felt
that because they have to do challenging job it need exfra labour in merging
| i competencles of more than one class, planmng, organizing ‘and takmg the class,

and 'S0 they opined that their work should be recongmsed as unique effort as

that of other teachers who serve in monograde. Further opmed that they should
be—given special fraining related to multigrade. Muthayan (2000) has also -

pointed out due to lack of pre and in service training related to multigrade . -

" teaching teacher perceived multigrade teaehing as a problem. Moreover,
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education system as a whole also pays iliadequate attention to the proper
functioning of multigrade schools. Further, there was no reference to
multigrade teaching in national policy documents. Thus, multigrade teaching
was considered as a ‘Big Problem’ reperted by Gupta, et al (1996), Nagaraju,

Jain and Anitha. Thus, prospective teachers were encouraged to develop

t() . e,

B Ty

negaﬁW&rgi vmultigrade teaching.
Beyend the mastery of the u$ubj ect matter of instruction, teacher- needs to have a
wide ‘renge of teaching skills to be effective.. A Vreﬂectiyve practices and
collaboration for example, make teachers more re%ive to“ cater the students
needs in the classroom Ja‘ngira’ (1995):. Moreover, two-third of/tie teachers -
were facing multigramgfeom, so they have to be prepared for the same
upported by Sakena, Singh and Gupta (1995). Thus, there was a dire need for
in service training in multigrade teaching.
Mostly, all the training given was content oriented and this traininggdo not play ,4
much attention to actual classroom practices. Real picture y(of the education
| system that was multigrade situation was almost neglected, so there was a need ,:
for sepa‘rate stra'tegy' on multigrade teaching was also felt by the teachers. As
the teachers working in multigrade schools do not have much knowledge of
cumculum orgamsa.uon, multilevel groupmg, class management use of
‘teaching- learmng materials and time management. Moreover teachers do not
have much informetion about integrating minimum- levels of learning of all
gl'ades;they teach. Further, time-table and teaching plan should be jﬂexible and
propervweig;hfage should be given to the students pace of learﬁing for which
proper professiorial preparation of multi-grade teachers should be organized
periodically. .
Although, the facilities provided to Sardar Sarovar Punahirasahat Agency
(SSPA) Schools were more or less same but still within some schools seme '
difference was found. May be because teachers in these schools were more
committed, dedicated and enthusiastic. Teachers nﬁghnga& gfepared activity

based material whlch helped them while teachmg and handling two or more

classes at a time.
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